UGC NET 2021 Comparative Literature

Topic:- 72CompLit_A

1) Read the following passage and answer the questions that follow:

Perhaps this book will be understood only by someone who has himself already had the thoughts that are expressed in it—or
at least similar thoughts.—So it is not a textbook.—Its purpose would be achieved if it gave pleasure to one person who read
and understood it.

The whole sense of the book might be summed up in the following words: what can be said at all can be said clearly, and
what we cannot talk about we must pass over in silence.

Thus the aim of the book is to draw a limit to thought, or rather—not to thought, but to the expression of thoughts: for in
order to be able to draw a limit to thought, we should have to find both sides of the limit thinkable (i.e. we should have to
be able to think what cannot be thought).

It will therefore only be in language that the limit can be drawn, and what lies on the other side of the limit will simply be
nonsense.

- Preface to Wittgenstein’s Tractatus Logico-Philosophicus
forgotfer¥aa srerior @ ufeu 3iiz IAD dIc D Yl D Iar difvm:
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Rresizeat &t Saeger arfsrpl- fibelR w1 & Yzarden

This book can be understood only by those who have thought ‘similarly’ because:

$A Yxad I dadl d & JHST ADA 3§ [Stediol "HdATel' WU A AHlar & wr=iifes :

[Question ID = 1391][Question Description = S2_qSNz_PG_CLR_QO01]
1. It reflects on ideas at great length/swt fart w frar 3 aaf &t % 2

[Option ID = 5561]
2. It just expounds randomly/s =1 ARNBID FU I RIRRI Dl &

[Option ID = 5562]
3. It states only the conclusions/swi @act forseat yzgd fopu s &

[Option ID = 5563]
4. It recounts the background of ideas/swi [l bt yrosyfdt a1 quist feperr sr &

[Option ID = 5564]

2) Read the following passage and answer the questions that follow:

Perhaps this book will be understood only by someone who has himself already had the thoughts that are expressed in it—or
at least similar thoughts.—So it is not a textbook.—Its purpose would be achieved if it gave pleasure to one person who read
and understood it.

The whole sense of the book might be summed up in the following words: what can be said at all can be said clearly, and
what we cannot talk about we must pass over in silence.

Thus the aim of the book is to draw a limit to thought, or rather—not to thought, but to the expression of thoughts: for in
order to be able to draw a limit to thought, we should have to find both sides of the limit thinkable (i.e. we should have to
be able to think what cannot be thought).

It will therefore only be in language that the limit can be drawn, and what lies on the other side of the limit will simply be
nonsense.



- Preface to Wittgenstein’s Tractatus Logico-Philosophicus
forgotferRac sterior o ufeu siiz 3HD ag d yoil @ a2 dfre:

AHATRIT 3 YD DI DS TAT cAfRp 8 AT ADN Sl usel A & T frar zaar 3 511 531 grae 3 b fpe o1e 3 -ar od A da sad
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A YD D AN HIA DI forsoiferi3ae orect o 31 I Ahell 3 : Sl @ Ml DaI S ADdl 3, IA FUTC WU A DBl S ADC 3 , 32 RBrAD ai¥ A
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safere s e ol srar A & Flar s AAdar 3, 3R 531 M D g3 3R Sl BPN 96 A 3follel Bl .
frestarear & Saeqea cnforml- fiseiR w1 & yarden
This book is not a ‘textbook’ because:

[Question ID = 1392][Question Description = S2_qSNz_PG_CLR_Q02]
1. It does not deal with a discipline/s =it farrr 3 2idfe o&f

[Option ID = 5565]
2. It expresses only the author’s ideas/swi ddct ckae @ AR =rb b s &

[Option ID = 5566]
3. It does not seek to explain the ideas/s @R &t == o8 wxit 8

[Option ID = 5567]
4. It seeks only empathic understanding/=s sirq aggferd erst 6t ot wcdt 8

[Option ID = 5568]

3) Read the following passage and answer the questions that follow:

Perhaps this book will be understood only by someone who has himself already had the thoughts that are expressed in it—or
at least similar thoughts.—So it is not a textbook.—Its purpose would be achieved if it gave pleasure to one person who read
and understood it.

The whole sense of the book might be summed up in the following words: what can be said at all can be said clearly, and
what we cannot talk about we must pass over in silence.

Thus the aim of the book is to draw a limit to thought, or rather—not to thought, but to the expression of thoughts: for in
order to be able to draw a limit to thought, we should have to find both sides of the limit thinkable (i.e. we should have to
be able to think what cannot be thought).

It will therefore only be in language that the limit can be drawn, and what lies on the other side of the limit will simply be
nonsense.

- Preface to Wittgenstein’s Tractatus Logico-Philosophicus
forgsifciRan srerior ol ufGu 3k 3AD dg o Yool @ Iar Sifdt:

HNATRT 3 YIAD DI DI VAT =ARp & AT AD=T Sit usdl A & 3 fFrar waar 3 S 331 yras i =ap o o8 3 -a1 oo A o sad
Aol [aAR- $Afeu A DIF UIgH Gaad ofdl 3. Al A6 Gadad 32 UGl 3R S0l dict TP Afth dI YRIcoldl oeil 3 dl $ADI 359 YA 3l SIUaILL

H QFA® D AHS) HId DI foreifeilRaa oregl 3 Faa1 it Al 3 : Sl T M DI Sl ADI 3, IA FUCC BU A DI S ADAI 3 , 3R Brad and i

3IA: 3 YD DI 39 [rar &, srerar frar &l o8l siftig frar & siftrcafts b1 2hen Y1 wiaen 3: =iife ferar & M xdiae A dla @
forg , zat farameviir Mo @ <SXeil usil @1 uar ceten aen  ( 3rerfd &3 as Aol AsT Blell PN BRY Aar ol St Addr 3 ).

safere s e ol srur 3 & Flar s AAddar 3, SR 31 M D g 3R Sl BPN 96 Al 3foldlel P .
fRresiarear &t Saeqea cnforml- fiseiR a1 6 ydraen
Which one of the following is a correct inference from the first sentence?

eI arcl a1 fordol 31 31 A8l 3rodrel @RI 3 ?

[Question ID = 1393][Question Description = S2_qSNz_PG_CLR_Q03]



1. Silence expresses the inexpressible/dilol SIRID- o DI RIP B &

[Option ID = 5569]
2. Thought and words are co-present/f@rR siiz orsg e -arer 3ufderd &

[Option ID = 5570]
3. If there is a thought, it is expressible as well/f¢ far 8 , Al a8 R D20l Al 8ft &

[Option ID = 5571]
4. There are words for every cognition /Yy 2isiel @ fore ofsc &

[Option ID = 5572]

4) Read the following passage and answer the questions that follow:

Perhaps this book will be understood only by someone who has himself already had the thoughts that are expressed in it—or
at least similar thoughts.—So it is not a textbook.—Its purpose would be achieved if it gave pleasure to one person who read
and understood it.

The whole sense of the book might be summed up in the following words: what can be said at all can be said clearly, and
what we cannot talk about we must pass over in silence.

Thus the aim of the book is to draw a limit to thought, or rather—not to thought, but to the expression of thoughts: for in
order to be able to draw a limit to thought, we should have to find both sides of the limit thinkable (i.e. we should have to
be able to think what cannot be thought).

It will therefore only be in language that the limit can be drawn, and what lies on the other side of the limit will simply be
nonsense.

- Preface to Wittgenstein’s Tractatus Logico-Philosophicus
forgaiferRaa sterior ol ufgu 3z D a6 D Yool @ IR Sifore:

AHATT 3 YD DI DI TAT AT Sl AT ADN SlI Usel A 3l 4R R dadr 3 Sid 33 e 3 oIeb b 31e & A1 oA A A AD
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H QFAD D AHASY HId DI foreifeilaa oregi 3 F2a1 oIt Al 3 : Sl T M DI Sl DI 3, IA FUCC U A DT S ADAT 3 , 32 Brad an¥ i
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sfere s e ol s 3 81 wdiar s A 3, 31k 31 e @ g 3MIR Sl Slen a8 I 3feIdlcI B .
fRresizeet & Saeqgea anfsrdl- fibclR w1 &t yrarden

Limits of thought cannot be drawn because

foreme &6 2fiom o1t =fi<ht s AApcdl 3 a=iifs -

[Question ID = 1394][Question Description = S2_qSNz_PG_CLR_Q04]

1. We need to stop thinking to see such limits/dzft fiemsii @t Sxaat & fere &3 Aol dg aor b magIdbdr 3

[Option ID = 5573]
2. Of the paradox of thinking unthinkable/fSRI itar si&t S Jradr 3 3D ar 3t Acon fRtememRt 2

[Option ID = 5574]
3. We need to know of beyond the limit/adt 2fier u2na @ ar 3 Siolol &l mavAddr &

[Option ID = 5575]
4. We need to exit the world of language/ &3 st &t gform 3 are2 forderol &1 smagIddr &

[Option ID = 5576]

5) Read the following passage and answer the questions that follow:

Perhaps this book will be understood only by someone who has himself already had the thoughts that are expressed in it—or
at least similar thoughts.—So it is not a textbook.—Its purpose would be achieved if it gave pleasure to one person who read
and understood it.

The whole sense of the book might be summed up in the following words: what can be said at all can be said clearly, and
what we cannot talk about we must pass over in silence.

Thus the aim of the book is to draw a limit to thought, or rather—not to thought, but to the expression of thoughts: for in
order to be able to draw a limit to thought, we should have to find both sides of the limit thinkable (i.e. we should have to
be able to think what cannot be thought).



It will therefore only be in language that the limit can be drawn, and what lies on the other side of the limit will simply be
nonsense.

- Preface to Wittgenstein’s Tractatus Logico-Philosophicus
forgotferRae sterior o ufeu iz 3HD ag d ygoil @ 3az dfre:
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I3T6l AR~ 3AfeTu A6 PIE UIg Ydad ofdl 3. AfS A Yzad 30 UGl 3R Aol dIcl b RAfth Pl YRIooldl Scil 3 dl $ADT 389 YT 3l ST

A YD D AN HIA DI forgoiferi3ac orect o 31 I Ahel 3 : il @B 9l DBI S ADdl 3, IA FUTC U 3 DI S ADC 3 , 32 RrAD aiy A
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fRresizeat &t Saegea arfsrl- fibelRwasa1 &t Yzarden

It is possible to draw limits to language as

[Question ID = 1395][Question Description = S2_qSNz_PG_CLR_QO05]

1. It is made up of discrete entities/s fafas Acdi 3 woft 8

[Option ID = 5577]
2. It has an intrinsic grammar /s3I U AaST RBJT &

[Option ID = 5578]
3. lIts substance, not form, is tangible/s3! ¥u ol |, 3iftg JARaq sl 2

[Option ID = 5579]
4. It is sequential both in speech and writing/?e dictol 3l feRdo! 3 SMGBHID &

[Option ID = 5580]

Topic:- 72CompLit_B

1) Read the following passage and answer the questions that follow:
What was after the universe?
Nothing. But was there anything round the universe to show where it stopped before the nothing place began?

It could not be a wall; but there could be a thin thin line there all round everything. It was very big to think about
everything and everywhere. Only God could do that. He tried to think what a big thought that must be; but he could only
think of God. God was God's name just as his name was Stephen. DIEU was the French for God and that was God's nhame too;
and when anyone prayed to God and said DIEU then God knew at once that it was a French person that was praying. But,
though there were different names for God in all the different languages in the world and God understood what all the
people who prayed said in their different languages, still God remained always the same God and God's real name was God.

James Joyce, A Portrait of the Artist as a Young Man
forgotferfRan srerior @1 ufgu iR 3AD g B Yosil B IR I ¢
YEIUS D €I a=AT AT ?
@B 18l . Uod TAT JBIUS D 5¢ -PIS o 1 Sil As coIfg b @ o1él Ferrel IRy 8ol A yd A8 sl T AT ?
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SIRA SRR, T Ulde 3t Tal 3i1ice Qs U a1 dol
This passage is a reflection on
g oTeni9l forgoiferRaa @ arR 3 Holol &

[Question ID = 1396][Question Description = S2_qSNz_PG_CLR_QO06]
1. The nature of the universe/qgiws &t yaopfer



[Option ID = 5581]
2. The limits of the universe/ggmvs &t fome

[Option ID = 5582]
3. Different names of God/#«az @ fafdroor omer

[Option ID = 5583]
4. God as creator of the universe/qgnvs @ afar @ »u ¥ a2

[Option ID = 5584]

2) Read the following passage and answer the questions that follow:
What was after the universe?
Nothing. But was there anything round the universe to show where it stopped before the nothing place began?

It could not be a wall; but there could be a thin thin line there all round everything. It was very big to think about
everything and everywhere. Only God could do that. He tried to think what a big thought that must be; but he could only
think of God. God was God's name just as his name was Stephen. DIEU was the French for God and that was God's name too;
and when anyone prayed to God and said DIEU then God knew at once that it was a French person that was praying. But,
though there were different names for God in all the different languages in the world and God understood what all the
people who prayed said in their different languages, still God remained always the same God and God's real name was God.

James Joyce, A Portrait of the Artist as a Young Man
forgaifeiRaa srerior o ufeu 3z 3AD dc & Yeoll @ IR i ©
YEIUS D §IG TAT T ?
BB o8l . UReq I JBIUS D 3¢ -BIS T a1 Sil A6 g9Ifu 6 B 18l FaTel 3R 3ol 3 yd A8 el ST oI ?

e DI SHaR o1&l 8l A@ddl off ; URoq YD avq D ARl 3R IS TP Adlol Alol I 3l Al off . YRIP 9 3R YAD FeUTol D dR 3 Aol
g5 931 DRI o1 .dact a2 & a5 BRI B2 ADAT o1 .33al Aldol DT YArA oo s s o 931 AR 61 dlen ; URoq a6 ddcT $*ar @ ar 3
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$9ez bl IURTGN B §U S13M1E § 3 Padl dl $2aR depIel Sllel Sl [ SURTAI Bl arell «afep WIRRA o . uveq, A=t fora 9 3 s1creT 3resT
srasil 3 $eaz @ fore frool ot & 3iie $eaz FasIar o f6  s1cmeT 3iceT A3l i yrefelr ol arcl clisT o=l @ | 3, fbe off $eae saonm adl $eaz a1
3R $9aR I aRAld® oIF $%R or .

SI3 SIRRI, T Uide 3 Ul 3i1fcIc U T AsT ol

These are the reflections of a/an
15 forgor 3t A fdparm1 HoTot 8 ?

[Question ID = 1397][Question Description = S2_qSNz_PG_CLR_Q07]
1. Studious cosmologist/umsierIcioflcr genus fastoft

[Option ID = 5585]
2. Earnest preacher/uve sisfiz 3uderm

[Option ID = 5586]
3. Comparative linguist/ua qefolcord s -frsieft

[Option ID = 5587]
4. Thinking mind/e® fdarefter af¥ass

[Option ID = 5588]

3) Read the following passage and answer the questions that follow:
What was after the universe?
Nothing. But was there anything round the universe to show where it stopped before the nothing place began?

It could not be a wall; but there could be a thin thin line there all round everything. It was very big to think about
everything and everywhere. Only God could do that. He tried to think what a big thought that must be; but he could only
think of God. God was God's name just as his name was Stephen. DIEU was the French for God and that was God's name too;
and when anyone prayed to God and said DIEU then God knew at once that it was a French person that was praying. But,
though there were different names for God in all the different languages in the world and God understood what all the
people who prayed said in their different languages, still God remained always the same God and God's real name was God.

James Joyce, A Portrait of the Artist as a Young Man



forgaifeiRaea srerior oI ufGu 3iiz 3AD ag & goil @ Iar I ¢

EIUS @ dIc =T AT ?

©B oIl . URod TRI JEIUs @ 3¢ -BIS @w o1 Sil As gellu b o oidl FeIrel 3¥ ol A Yd A8 D8l ST AT ?

I8 DI <IaR o1&l 8l Addl ofl ; URod YD arq @ ARl IR DI T Adlol Adlol 31 8l Al ol . YRIDd aq 3R YeAd FeUlol B dR 3 Aol
g5 a31 BRI a1 . dact $az & a6 BRI B2 ADI AT 3ol AlIe! Bl YA s 6 a6 fpdorr a1 ok 61 31 ; UReq a8 daed $F2av & ar i
3 ra R . $2a3 BT Gl $9aR o1 SI3Y 3BT AP Gl I R D fore WiRRA ot S1ens € 3 o 3l as 9ft $eaz &I oIt o ; 3R S/ B
$oq3 bl IURTGI B §U 13 § Y Padl dl $%aR dceplc] ol SIIdI fb IURTe 2ol alell P BIRRI a1 . uveq, =it faea s 3 31T 31ePT

3u3il 3 $ear B fore Moot ot A 3iie $eaz JarsIar on {5 3rcreT 3icTeT ATu3il 3 yrefslr ol arcl clisT =i @ @ 3, fibe off $eaz saonm adl $raz a1
31z $eaz T arRdfdds ol $az or .

SIRA SRR, T Uice 3 Tal 3i1icIc T T AsT ol

About the universe we know that

JoEIUs @ Adel I 8 S6ld & fb

[Question ID = 1398][Question Description = S2_qSNz_PG_CLR_QO08]
1. It is infinite/s spiftra 2

[Option ID = 5589]
2. It is nothing/xs @® oél 8

[Option ID = 5590]
3. It ends somewhere /% @&l @Id BT 3

[Option ID = 5591]
4. It is a mystery/?s ub BRI &

[Option ID = 5592]

4) Read the following passage and answer the questions that follow:
What was after the universe?
Nothing. But was there anything round the universe to show where it stopped before the nothing place began?

It could not be a wall; but there could be a thin thin line there all round everything. It was very big to think about
everything and everywhere. Only God could do that. He tried to think what a big thought that must be; but he could only
think of God. God was God's name just as his name was Stephen. DIEU was the French for God and that was God's nhame too;
and when anyone prayed to God and said DIEU then God knew at once that it was a French person that was praying. But,
though there were different names for God in all the different languages in the world and God understood what all the
people who prayed said in their different languages, still God remained always the same God and God's real name was God.

James Joyce, A Portrait of the Artist as a Young Man
forgotferfRaa srerior @1 ufgu 3R 3AD arg B Yosil B IR I ¢
EIUS D dIC a=aT AT ?
@B 18l . Ued TAT JBIUS D 5¢ -PIS @ 1 Sil As coIfu b @ o1él Ferrel 3Ry glol A yd A8 sl T ar ?

gz @IS SR offl & Al off ; ueq YA® arqg D ARI 31T DIF v Aol Alol 31 & Al off . YD avq 3R YeA® Feirel d dR 3 Aldol
g 931 PRI o1 .Dact $0az 8l A6 BRI B2 AGAT A1 .33l Aldal BT YRR 61 6 s fpdon 931 AR @1 8P ; URoq a6 ddel AR & arR 3
& AT URnN . $9a3 DI ol $%a2 AT SIA IADI olld FEWol 1. $9a3 @ ferg Wilddl sna Stams § 3 o 3iiz ag ot $az @I ol o ; 3iR Sl DI
23 DI IURTGI B FU IS § Y P dl $%aR dcepIcl Sliol  SIIdl {6 IURTGIl @6l dlcll RAftp BIRRI a1 . uveq, A=t faea 812 3 31cmT 3[erPT
Tu3il A $eaz a5 feru fireot ommar A siiz $eaz Harsiar o fd5  3rcreT 31cTeT HIYSil 3 Yrefoll a5l arct clisT a—Il @6 W 3, b2 9ft $eaz sden adl $2az @I
3R $a3 BT aRAfd® et $2az o .

SIRA SRR, T Ulde 3t Tol 3i1ic¥c TS U a1 dol

The boundary of the universe, if there is one, could possibly be marked by
afe 5 gonvs bf oI Mar 3, al Asraden 33T foremeit el

[Question ID = 1399][Question Description = S2_qSNz_PG_CLR_Q09]
1. Lines round the universe /ggvs @ ari 3 3w

[Option ID = 5593]
2. Straight thin lines/3fteft s1dter 32ame

[Option ID = 5594]



3. Circles around the universe/qgivs @ ari 3k g

[Option ID = 5595]
4. Lines round all planets, galaxies etc. /@R 3@, spromiensii anfe & arl 3R W

[Option ID = 5596]

5) Read the following passage and answer the questions that follow:

What was after the universe?
Nothing. But was there anything round the universe to show where it stopped before the nothing place began?

It could not be a wall; but there could be a thin thin line there all round everything. It was very big to think about
everything and everywhere. Only God could do that. He tried to think what a big thought that must be; but he could only
think of God. God was God's name just as his name was Stephen. DIEU was the French for God and that was God's name too;
and when anyone prayed to God and said DIEU then God knew at once that it was a French person that was praying. But,
though there were different names for God in all the different languages in the world and God understood what all the
people who prayed said in their different languages, still God remained always the same God and God's real name was God.

James Joyce, A Portrait of the Artist as a Young Man
forgotferfRaa srerior @1 ufgu 3R 3AD ag B Yosil B IR I ¢
EIUS D dIC q=AT AT ?
@B 18l . Ued TAT JBIUS D 5¢ -PIS o 1 Sl As coIfg b @ o1él Ferrel IRy glol A yd A8 sl T AT ?

gz @IS SR offl & Al off ; ueq YA® arqg D ARI 3T DIF v Aol Alol 31 & Al off . YD avq 3R YeA® Ferrel d dR 3 Alrol
g 931 BRI o1 .Dact $0az 8l A6 BRI B2 AGAT A1 .33l Aldal BT YRR 61 6 as fpdon 931 AR @1 8P ; URoq a6 ddel AR & arR 3
& AT UrRn . 943 DI ol $%a2 AT SIA IADI ol FEWol 1. $9a3 @ fere wilddl ona Stams § 3 o 3iiz ag ot $az @I ol o ; 3R Sl DI
$2q3 DI IURTGI B FU II3MS § Y P dl $%aR dcpIcl Sliol Sl b IURTeIl @6l dlcll RAftp BIRRI AT . uved, A=t faed 812 3 31cmI 3[e1PT
su3il 3 $eaz @ fore Moot ot & 3iie $eaz JersIar on {6 31creT 3icTeT T3l 3 yrefslr ol arcl clisT R @ W} 3, b2 off $eae saon adl $2az a1
3R $a7 BT aRAfdD oIET $2a3 o .

SIRA SRR, T Ulde 3t Tol 3i1icc TS U a1 dol

Only God can tell about the universe but
YBIUS D aR A dacl $¥aR 8 I ADAI § UIod,

[Question ID = 1400][Question Description = S2_qSNz_PG_CLR_Q10]
1. The God of many names/3old ol drell a2

[Option ID = 5597]
2. Which or whose God/ler srerar feprepr $aa2

[Option ID = 5598]
3. God called by what name/fds31 ofet 31 YRI STol dIell $%a2

[Option ID = 5599]
4. God whose name is ‘Dieu’/'lais € 21 ot aretr $a2

[Option ID = 5600]

Topic:- 72ComplLit_C

1) Which school of comparative literature is the polysystem theory ascribed to?

§g guIicll Rigid @I gefollcAd ABI DI v [dmmr -uerfer 1 JAder sar siar 3 ?

[Question ID = 1401][Question Description = S2_qSNz_PG_CLR_Q11]
French school/wif3rf foar -vaifer [Option ID = 5601]

German school/swfer fémr -werfer [Option ID = 5602]

Tel Aviv school/det sidld ferare -ueifer [Option ID = 5603]

American school/ 3wl far -uarfer [Option ID = 5604]

A wWw N =

2) Whom are the ideas of Horizon and Horizon of expectation attributed to?

féiferst iz gemen o faiferst @ foram @1 9t fap2) &= Sirar 3 ?



[Question ID = 1402][Question Description = S2_qSNz_PG_CLR_Q12]
1. Gadamer and Heidegger/sgpR 3z 8ssr [Option ID = 5605]

2. Heidegger and Merleau Ponty/a3s12 aiiz dicif didt [Option ID = 5606]

3. Gadamer and Jauss/sewER iR it [Option ID = 5607]

4. Jauss and Durisin/sita siiz gifrer [Option ID = 5608]

3) "Indian literature is an interliterary condition". Whom is this statement attributed to?
‘wrrcdl Af3ca o sia: affeas Refer 3. 331 oot o 91 63 Sirdr 3 ?

[Question ID = 1403][Question Description = S2_qSNz_PG_CLR_Q13]

1. Amiya Dev/sifdrn da

[Option ID = 5609]

2. Swapan Majumdar/zatel FSpGR
[Option ID = 5610]

3. Ayappa Paniker/srmur ufdiase

[Option ID = 5611]
4. Ganesh Devy/smrer sdt

[Option ID = 5612]

4) Which of the following theorists identifies Interliterariness as the basis of comparative studies of literature?

forgatferi¥ad 4 A fpa1 AR of MBI D GelollcdAD FERIGT D LR D PU 3 e Afdferapar &I usaret & 3 ?

[Question ID = 1404][Question Description = S2_qSNz_PG_CLR_Q14]
1. Marian Galik/#f¥rer siferas [Option ID = 5613]

2. Julia Kristeva/gjfern fageaar [Option ID = 5614]

3. Steven Totosy/>ddor Adrz=r [Option ID = 5615]

4. Rene Wellek/¥st dccre [Option ID = 5616]

5) With which of the following concepts would you associate Edouard Glissant?

3TU Ug3ict scilid ol fordol 3 A oA @ERUI @ AT SIS ?

[Question ID = 1405][Question Description = S2_qSNz_PG_CLR_Q15]
Hybridity /i@zar [Option ID = 5617]

Rhizome/gwms [Option ID = 5618]

Secular Criticism/der-forader sietiaet [Option ID = 5619]

Distant Reading/gze usat [Option ID = 5620]

A W N -

6) Which of the following writers is a pioneer of Dalit literature in Telugu?

forgsiferae 31 3 Plel A1 D dgga) A ofera A3 @1 sEPlt 3 ?

[Question ID = 1406][Question Description = S2_qSNz_PG_CLR_Q16]
Namdeo Dhasal/smeica eriaret [Option ID = 5621]

Ranganayakamma/3sweirifcsswan [Option ID = 5622]

Gurram Jashuva/spa sigpn [Option ID = 5623]

Hansda Sowvendra Shekhar/&3er 3iidg 9raz [Option ID = 5624]

A WN -

7) What is a masnavi?

IAordt @R & ?

[Question ID = 1407][Question Description = S2_qSNz_PG_CLR_Q17]

. A quatrain/ue aquudt [Option ID = 5625]

. A couplet/ww grar [Option ID = 5626]

. A long poem with internally rhyming lines/smeaf¥es ¥u 3t gaddt arctt cidt wfdar [Option ID = 5627]
. A death lament/u® 31y ol ffa [Option ID = 5628]

A wWwN =

8) To which of the following theorists would you attribute a pluralistic idea of history?

s @ agearct far o1 91 simu fersifeRaa 3 A v Rigiaer ot a1 7



[Question ID = 1408][Question Description = S2_qSNz_PG_CLR_Q18]
Hayden White/&sat ssise [Option ID = 5629]

Ralph Cohen/zrew @iaat [Option ID = 5630]

Henri Bergson /3ot seiziet [Option ID = 5631]

Fernand Braudel/weifs giger [Option ID = 5632]

A WN =

9) Which of the following statements form part of the doctrine of syadvad ?
A. Mortals cannot know the truth

B. Knowledge claims can be qualified in many ways

C. There is no truth

D. Truth is conditional

Choose the correct answer from the options given below:

forgatfeiRad af A Blel AT DBerol FAIGAIS BT 3051 3 ?

A. or*ar I ofdl Sfol AP 3

B. =irel & crdl o 3foi wu 3 Mfda fopen s rmar @
C. ®F uca odt 3

D. wrca ayferder 3

il feu sru faresedl 3 A A8 Ia= goi ¢

[Question ID = 1409][Question Description = S2_qSNz_PG_CLR_Q19]
1. Aand B only/ @ac1 A sz B

[Option ID = 5633]
2. Cand D only/daet C sfiz D

[Option ID = 5634]
3. Band C only/@aet B sz C

[Option ID = 5635]
4. B and D only/addet B siiz D

[Option ID = 5636]

10) Which among the following texts deals with poetry and poetics?
A. Ab e hayat

B. Milindapanha

C. Tolkappiyam

D. Padmapuran

Choose the correct answer from the options given below:

forarferi¥aa 3 A @l Al pfer wre siik @9 A Adfera 3 ?

A. 39 A
B. firferocusar
C. dicmiftRzr

D. gsrgaror



il fou a1 fraseul 9 2 W& 3= goi ¢

[Question ID = 1410][Question Description = S2_qSNz_PG_CLR_Q20]

1. Aand B only/@act A siiz B

[Option ID = 5637]
2. Aand C only/daer A siiz C

[Option ID = 5638]
3. B and D only/daa B siiz D

[Option ID = 5639]
4. Cand D only/daet C sk D

[Option ID = 5640]

11) Which among the following are the poets of Dakhni?
A. Wali Aurangabadi

B. Mahlaqga Bai Chanda

C. Sachal Sarmast

D. Bulleshah

Choose the correct answer from the options given below:
forgarfeiRaa 3t 21 cRaoht & ofd dla1 & ?

A . acli siizenarct
B . #iBcImT arf Tict

C . IJad IaAFa

D . georoms

[Question ID = 1411][Question Description = S2_qSNz_PG_CLR_Q21]
1. Aand B only/dact A siiz B

[Option ID = 5641]
2. Cand Donly/aae C . sk D

[Option ID = 5642]
3. Aand C only/dacr A siiz C

[Option ID = 5643]
4. B and D only/@ae B siiz D

[Option ID = 5644]

12) Match List | with List Il

List | List Il

Philosopher Concept

A. Martin Buber I. Dasein

B. Jean Paul Sartre Il. Phenomenal field
C. Maurice Merleau Ponty lll. Bad faith

D. Martin Heidegger IV. I-Thou

Choose the correct answer from the options given below:

et -1 B e -1l A e i

Iq\zn - Fg\iﬁ-ll



( groffora ) ( 3raemvm)

A. Fufdsr ga= |5t ( dasein )

B. sai difer amef I1.axighies 8

C. anfar arcif uiédt Il gyifa

D. mf¥a 33r IV. & -gu (3m$-315 )

oif<l feu aru fawedl 3 A A8 3R gfore :

[Question ID = 1412][Question Description = S2_qSNz_PG_CLR_Q22]
1. A-IV,B-1I,C-1,D-1lI

[Option ID = 5645]
2. A-IV,B-1lll,C-1I,D -1

[Option ID = 5646]
3. A-1L,B-1,C-IV,D- 1l

[Option ID = 5647]
4. A-1,B-Il,C-1v,D-1l

[Option ID = 5648]

13) Match List | with List Il

List | List Il
Author Language
A. Lankesh I. Ahamiya
B. Indira Goswami Il. Hindi

C. Yashpal lll. Gujarati
D. Zhaverchand Meghani IV. Kannada

Choose the correct answer from the options given below:

el -1 @ 3 -1l 3 Fafera bifie

et -1 it Il
( oraw ) ( oire )
A. ciddor |.srafdrm
B. gfear snzanil Il. &

C. Joruret lll. SRt
D. sraveic it IV. @woors

oii<l feu aru fawedl 3 A A8l 3R gfore :
[Question ID = 1413][Question Description = S2_qSNz_PG_CLR_Q23]

. A-ll,B-lll, C-l, D -IV [Option ID = 5649]
A-lll, B -, C-IV, D -l [Option ID = 5650]
. A-IV,B-l,C-Il, D -Ill [Option ID = 5651]
. A-l,B-IV, C-Il, D -lll [Option ID = 5652]

A WN -

14) Arrange the following writers in chronological order
A. Namdev

B. Tulsidas

C. Ghananand

D. Karaikkalamma

Choose the correct answer from the options given below

forgaifeiRaa crawml Bl BIeraeRIR *af¥erd bifsme:
A . cimaHga
B . gerilcr

C . Holroig



D . ®ers@ce
foratfeiRaa faaetl A & 3a= gfore
[Question ID = 1414][Question Description = S2_qSNz_PG_CLR_Q24]

. A, B, C, D [Option ID = 5653]
D, C, B, A [Option ID = 5654]
D, A, B, C [Option ID = 5655]
C,B

1
2
3.
4 , A, D [Option ID = 5656]

15) Arrange the literary movements in chronological order
A. Parnassianism

B. Imagism

C. Symbolism

D. Dadaism

Choose the correct answer from the options given below

forrarferRaa fafearae sricicroll @I PIermARIR Iaf¥erd dhifste :
A. @crrarg
B. fdgare
C. ydiwarg

D. crcrssa

il fou s1e fraseul 9 3 & 3= goi ¢
[Question ID = 1415][Question Description = S2_qSNz_PG_CLR_Q25]

1. D, C, B, A [Option ID = 5657]
2. C, B, D, A [Option ID = 5658]
3. A, B, D, C [Option ID = 5659]
4. A, C, B, D [Option ID = 5660]

16) Arrange the playwrights in chronological order
A. Maeterlinck

B. Lessing

C. Jonson

D. Webster

Choose the correct answer from the options given below

forgatferRaa GIICAIPRI B BITDAIGRIR Raf¥erd bifse:
A. i

B. afdzier

C. SlioRIol

D.de¥c:

i) feu a1u faeal 3 A Al Ia= gol ¢

[Question ID = 1416][Question Description = S2_qSNz_PG_CLR_Q26]
A, D, C, B [Option ID = 5661]

C, D, B, A [Option ID = 5662]

B, A, C, D [Option ID = 5663]
D, C, B, A [Option ID = 5664]

AW N =



17) Which among the following poets were devotees of Vishnu?
A. Warkari

B. Nayanar

C. Alvar

D. Satnami

Choose the correct answer from the options given below:

forsaiferRaa 3 A1 ®lot A Bl forou] & e 3 ?

A. aod

C. srcaz

D. ademsht

offc feu are el 3 2 A3l = ol ¢

[Question ID = 1417][Question Description = S2_qSNz_PG_CLR_Q27]
1. Aand C only/@aet A siiz C

[Option ID = 5665]
2. Band C only/daa C siiz B

[Option ID = 5666]
3. B and D only/daer D siiz B

[Option ID = 5667]
4. A and B only/d>aet A siiz B

[Option ID = 5668]

18) Given below are two statements
Statement I: Modernity in colonial India was mediated by print culture.
Statement II: Print had the potential to undermine the hierarchies of reading related to caste and class.

In light of the above statements, choose the most appropriate answer from the options given below

ofi <1 perer Ru sme 3 :

el - | : sfiuferafdre surda 3 sugformdar Fgur Izmie & areReEr A s oft

et - |1 : ggur 3 sufer 3iiz aef A Hdfra uoa & Alurel @ gifer ugarar & grarer oft
IWRfT Bl @ 3l 3 fororfeiRaa faedl 3 A alferes S 3= gfome :
[Question ID = 1418][Question Description = S2_qSNz_PG_CLR_Q28]

1. Both Statement | and Statement Il are correct/aeret | 3iiz || Sloil 36t & [Option ID = 5669]

2. Both Statement | and Statement Il are incorrect/wmeret | 3ii || Sloil slerea & [Option ID = 5670]

3. Statement | is correct but Statement Il is incorrect/wmeret | 2@t @ , fpoq @eret |l srer @ | [Option ID = 5671]
4. Statement | is incorrect but Statement Il is correct/wmere | sicia & , fboq @ert || 3@ & [Option ID = 5672]

19) Match List | with List Il

List | List Il

(Critic) (Concept)

A. Amiya Dev I. Indian Literature: another name for Comparative Literature
B. Gurbhagat Singh Il. Literary history from below

C. Nabaneeta Dev Sen Ill. Death of a discipline

D. Gayatri Chakravorty Spivak|V. Differential multilogue




Choose the correct answer from the options given below:

et -l ot 3Eh -1l A Fgafera HifSre :

et -l

et -1
( sraermzom )

( 3rreta® )

A. afirer 3 |. MRl A3 © gefollcA® AT D 1w e 360
oIt

B. spsera Ris Il.ofia 3 afdfeawm sfesra

C.oIgoilar &a 3ot lll. v farerr oot sia

D_' A et IV. ffice ager- wert

il fou o1 fyseul 3 3 A IR gfom ©

[Question ID = 1419][Question Description = S2_qSNz_PG_CLR_Q29]
1. A-UL,B-1,C-I,D-1IV

[Option ID = 5673]
2. A-lILB-1I,C-1,D-1IV

[Option ID = 5674]
3. A-I,B-1l,C-IV,D-1ll

[Option ID = 5675]
4. A-11,B-1IV,C-1,D-1ll

[Option ID = 5676]

20) Arrange the following books chronologically in terms of their first publication:
A. Rabindranath Tagore’s Gora

B. Rudyard Kipling’s Kim

C. E M Forster’s A Passage to India

D. Herman Hesse’s Siddhartha

Choose the correct answer from the options given below

fogaifeiRaa graml a1 IJo1d YLt YbI9IeT @ BICIIARIR Idf3erd bifsme:
A. *dfitogoner iz 6t st

B. Tsurs fpufiier & foar

C. $uat .®BRez &I ¢ G ¢ s

D. &6t 3 bt Rrgref

offa fou s1u fyeseul 3 21 & 3a= goi ¢

[Question ID = 1420][Question Description = S2_qSNz_PG_CLR_Q30]
, C, D [Option ID = 5677]

, C, B [Option ID = 5678]

B
D, C

, A, D, C [Option ID = 5679]
A, C, B [Option ID = 5680]

A W N -

)

21) Who, among the following, wrote the novel, Indira Bai?



forgatfeiRaea 3t A foparor e aré ofidas SucerreT ferar ?

[Question ID = 1421][Question Description = S2_qSNz_PG_CLR_Q31]
E. V. Ramakrishnan/$dt.2erpwie [Option ID = 5681]

Volga/dxcem [Option ID = 5682]

G. V. Rao/Sftdtara [Option ID = 5683]

0. P. Chandu Menon/siLdt.dg diotol [Option ID = 5684]

A W N -

22) According to Sisir Kumar Das, which of these does the ‘history’ of Comparative Literature in India begin with?

fOIfdr AR SRT @ SIGIRAR HRA 3 delellca® AT @I 'sferert’ forForferfaa 3 2 fpara> ATer st gam ?

[Question ID = 1422][Question Description = S2_qSNz_PG_CLR_Q32]

1. The Bhakti movement/sfep siicietat [Option ID = 5685]

2. The use of multiple languages in Kalidasa’s plays/®ifeicRl @ siica! 3t ggomftied st [Option ID = 5686]

3. The setting up of the first university department of Comparative Literature/qeioicaed 31 @ yeer feafdencrit fsier &bt semuon [Option ID = 5687]
4. The setting up of the first three universities in India/sma 3 yewr dior fafdemcril <t Femuon [Option ID = 5688]

23) Who is the author of the 1959 essay, “Comparative Literature in India”?
1959 3i fere a1 forder , "HIRA 3 gelollcaA® AMdT " @D cRAD Dot o ?

[Question ID = 1423][Question Description = S2_qSNz_PG_CLR_Q33]
Rabindranath Tagore/zdtsgatrer sz [Option ID = 5689]

Buddhadeva Bose/ggda drt [Option ID = 5690]

Munshi Premchand/3jsft Qgrass [Option ID = 5691]

K. R. S. lyengar/@.3m.ea.3risr [Option ID = 5692]

A w N =

24) Which of the following was suggested by Rabindranath Tagore as an alternative name for Comparative Literature?

qcTollcAd AMBRI D JDICUD ol D WU 3 Idlogelrd IR GRI forvotfeiiRad 3 A fdparmr Jsia f$ar srm ar ?
[Question ID = 1424][Question Description = S2_qSNz_PG_CLR_Q34]

1. Jatiya sahitya/sudtr 2nfder [Option ID = 5693]

2. Sahitya/nfd=r [Option ID = 5694]

3. Tulnatmak sahitya/qetenee 2nfder [Option ID = 5695]
4. Visvasahitya/faeaznfaer [Option ID = 5696]

25) Which of the following historical processes does Mary Louise Pratt’s essay, written in response to the Bernheimer
Report, hold responsible for changing the way literature and culture were conceived and studied in the academy?

A. Neo-colonialism

B. Globalisation

C. Democratisation

D. Decolonisation

Choose the correct answer from the options given below:

ToiadR Yferdcel @ YoIaR 3 ford a1 131 o321 yrd @ forder 3 sropreddl 3 Aifdea 3R vl @ sreriol @ feru fareniea asia> ol ufvafdda mzor
@ feru forvotfeiRaa o A vt OfereIRd gfcgrn @1 3TReRl o6rRI SR & ?

A. sa-3uforaomarg

B. decdimror

C. cimddimot

D . fa -siiuforaefias=ur

il fou s1u fRyeseul 3 2 & 3a= goi ¢

[Question ID = 1425][Question Description = S2_qSNz_PG_CLR_Q35]



1. A, Band Conly/dac A, Bsiz C

[Option ID = 5697]
2. A, Cand D only/d@aet A, C iz D

[Option ID = 5698]
3. B, Cand D only/a@ae B, C sfiz D

[Option ID = 5699]
4. A, B and D only/daet A, B siiz D

[Option ID = 5700]

26) Which of the following is implied by the recommendations of the Levin Commission?
A. Comparative Literature should be offered by all universities

B. Comparative Literature should not be offered by all universities

C. Comparative Literature should assume an interdepartmental form

D. literary works from remote languages should not be studied in translation

Choose the correct answer from the options given below:

cifdret 3miteT Y sretoimell 3 fogarferlRaa 3 3 rm-a=n foifda 3 ?

A. it Rrafdencril 3 geoncas wdca foRr Ao @fde

B. 213t freafdreneril 3 geroncae iz ferr o8l dlon afdw

C. qeelca® AfdeT ©T WU 3id: it don aifde

D. Jgy srunsii &t fafeares Fareinsii @1 siofars 3 sreerrel o18l dlelr aifdu

il fou o1 fyeseul 3 31 & Fa= goi ¢

[Question ID = 1426][Question Description = S2_qSNz_PG_CLR_Q36]
1. A and B only/d>aet A siiz B

[Option ID = 5701]
2. Band C only/@aet B aiiz C

[Option ID = 5702]
3. Aand C only/daer A siiz C

[Option ID = 5703]
4. Cand D only/@act C sfiz D

[Option ID = 5704]

27) What is the national association of Comparative Literature in India called?

R 3 qelolicd® A3 DI A AIRTTrGT Bl a=IT Pl ST 3 ?

[Question ID = 1427][Question Description = S2_qSNz_PG_CLR_Q37]

Indian National Comparative Literature Association/smcir i getorieaies mfaer w2t [Option ID = 5705]
Comparative Indian Literature Association/qetemcore sl 2mnfder wiimort [Option ID = 5706]

Comparative Literature Association of India/ema ot qefelicaie mfaer wiBmemst [Option ID = 5707]

Indian Comparative Literature Association/siedir getoncars e wiiBeoret [Option ID = 5708]

A W N -

28) Which of these languages is taken up for study under ‘Other Indian Languages’ by K M George in his Comparative
Indian Literature (1985)?

DA GIRI Uil el wduifed gfseat feredar ( 1985) 31 'siowr siedi siTemail o il 3ierRiel @ fere forvarfeiRaa 3t 21 fipar s @1
form orm 3 ?



[Question ID = 1428][Question Description = S2_qSNz_PG_CLR_Q38]
Bodo/dIsY [Option ID = 5709]

Sindhi/Roeht [Option ID = 5710]

Lepcha/e=n [Option ID = 5711]

Dogri/sweit [Option ID = 5712]

A W N -

29) With which of the following can translators who claim they want to make the author speak the way he would have
spoken had he written the work in the Target Language be identified most easily?

A. Moving the author to the reader
B. Moving the reader to the author
C. Intermedial translation

D. Domestication

Choose the correct answer from the options given below:

06 GIAI ol dicl 3ofdIGeDl Pl , b d cRa® A I YPR Jodiell d1ad 3 Sii a8 clgd HIHI 3 fergel uR dicar , forafeRaa # A fopad e
affires FReragde SISt St Addar 8 ?

A. SREa® Pl UIod D Urd o Silell
B. ure® @I crRa® @ U o Sliell
C. siaracil separe

D. gofimzur

il feu sru el 3 A AL = goi ¢

[Question ID = 1429][Question Description = S2_qSNz_PG_CLR_Q39]
1. Aand B only/@act A siiz B

[Option ID = 5713]
2. Band C only/d@aer B iz C

[Option ID = 5714]
3. Cand D only/@ae C sz D

[Option ID = 5715]
4. Aand D only/dae A sik D

[Option ID = 5716]

30) Which of these does Dryden recommend vis-a-vis translation?

A. A translator should be a nice critic in his own language before he undertakes to translate a foreign literature
B. To be a thorough translator, one must be a thorough poet

C. One should never try to translate from one medium into another

D. One should try to focus on exotropic translation more than on endotropic translation

Choose the correct answer from the options given below:

3odIc @ Ade I 35Sl forvolfeiRaa 3 A Dlol Diot Al IR BT 8 ?

A. o=l fagolt simar 3 srefare oI PRI a1e 3 clol A gd 3[oJdIic® I <RI Uil HIHI 3 b dadsiel IcilkI® Sloll 13T
B. ww w1eyul srofdicd glol @ ferg wd Hagul oofd glelr aifdg

C. oo e A I AL 3 IGIAIC DI YART DI oTél Dol AT

D. siadxil siefarc &l sragn afdddl siofarc Uz dioga wol I YART Bl Az



il fou a1e fraseul 9 2 W& 3= goi ¢

[Question ID = 1430][Question Description = S2_qSNz_PG_CLR_Q40]

1. Aand B only/@act A siiz B

[Option ID = 5717]
2. Band C only/dact B siiz C

[Option ID = 5718]
3. Cand D only/a@aer C 3iiz D

[Option ID = 5719]
4. Aand D only/a@aet Asiiz D

[Option ID = 5720]

31) In which of these is the Lepcha language primarily used?
A. Sikkim

B. Andhra Pradesh

C. Uttar Pradesh

D. West Bengal

Choose the correct answer from the options given below:
Soldl 3 D8l -Dsl TU HINT FIRICRIT YT Dl SIiedl 3 ?

A. Bifdoa
B. smeef ggor
C. 3= ggor
D. af2g domer

offc feu sre el 3 2 8l = ol ¢

[Question ID = 1431][Question Description = S2_qSNz_PG_CLR_Q41]
1. A and B only/d>aet A iz B

[Option ID = 5721]
2. Aand Conly/@act A iz C

[Option ID = 5722]
3. Band C only/d@aer B siiz C

[Option ID = 5723]
4. Aand D only/@act A sz D

[Option ID = 5724]

32) Which of these is used most extensively by Arif Ayaz Parrey and Wasim Helal in their graphic narrative adaptation of
Manto’s “Dog of Tetwal”?

3P TSl U3 3iik a1Rea1 Seiiet of el @ ‘ddadre @ qgd’ @ 3ol SbI gedid WUidR 3 forotfeiRaa 3 A fopaamT YRIIeT fopanm 3 ?

[Question ID = 1432][Question Description = S2_qSNz_PG_CLR_Q42]
1. Mirroring technique/gdur awsfies [Option ID = 5725]

2. Diagetic narrative/@era@ ( greifcro) gaia [Option ID = 5726]

3. Voice overs/3ust simarst ( arri 3iaz ) [Option ID = 5727]

4. Use of chorus/sri gog @1 gl [Option ID = 5728]

33) Which of the following does the concept of an ‘Indian Nepali literature’ imply?

A. Languages are shared among multiple states in South Asia



B. Literature may be written in the same language but belong to multiple states in South Asia
C. Poetry is written in Nepali language
D. Poetry is not written in India

Choose the correct answer from the options given below:

' sIcii=I orurctlt Arfdc ' &bt sraemeun A forgstferRaa 3 A a=ir eafora alar 3 ?

A. cf3or ofdrRn 3 vmIfere Soil @ dia AT HIuE 3

B. afgca g & saron 3 ferzn 81 ADar 3 ureq cidior ofdrm o wwifras Soif A JHdfer 8 wrwar 8
C. ofaar sturcht amor 3 foredft st 3

D. siea 3 oofdar otdl fersdt siredt 3

oifd f&u sro farapeul 3 27 38l 3= ol &

[Question ID = 1433][Question Description = S2_qSNz_PG_CLR_Q43]
1. Aand B only/dact A siiz B

[Option ID = 5729]
2. Cand D only/aae C siiz D

[Option ID = 5730]
3. Band D only/daet B sz D

[Option ID = 5731]
4. Aand D only/daet A siiz D

[Option ID = 5732]

34) Which of the following applies to Itamar Even-Zohar’s stance on translation?

A. Literary polysystem does not include translated works

B. Scholars of translation should go beyond the question of equivalence

C. Literary polysystem does not include masterpieces

D. Scholars of translation should study the translated text in the context of the target polysystem

Choose the correct answer from the options given below:

3[oldIc @ JAdel I SAAR sdrel ~5ile2 Dl Al ur ferorferlRaa 3 A o= a8 3 ?

A. af¥feas agyprcht ¥ sofea aemt onfdrer o1dl 3

B. sroqarc @ RIgell @I A3ATGIAT D Yosl A 18] Silell aifdu

C. af¥fearss agyuneht 3 Jcomicr onfirer o18t &

D. arojarc @ figmoil @Y afdra agyuieit o Aocsf ArIfed UTs I HERIoT Dot fde

il feu aru fareedl 3 A Al Ia= gol ¢

[Question ID = 1434][Question Description = S2_qSNz_PG_CLR_Q44]
1. Aand B only/@act A siiz B

[Option ID = 5733]
2. Cand D only/daet C sfiz D

[Option ID = 5734]



3. Band D only/d@aet B aiiz D

[Option ID = 5735]
4. Aand D only/ddct A 3iiz D

[Option ID = 5736]

35) Which was the Moliere text that inspired Girishchandra Ghosh to write his play, Jyaisa ka Tyaisa?
JAIfeRR &I as Dol AT Tl off PRIcl PRIYKIG 1Y DI UG sllcd Sidl @I d}A1 ferdel @ fere gfea v ?

[Question ID = 1435][Question Description = S2_qSNz_PG_CLR_Q45]
1. Le médecin volant/en af3Be1 dictia Le médecin volant
[Option ID = 5737]
2. L'Amour médecin/eu smar df3Bor L'Amour médecin
[Option ID = 5738]
3. Le Bourgeois Gentilhomme /e g3f3nu Sifficdlsl  Le Bourgeois Gentilhomme

[Option ID = 5739]
4. Le Docteur amoureux/n sfacz @RI Le Docteur amoureux

[Option ID = 5740]

36) Which of these is an appropriate example of rewriting in a diachronic frame?

forsaiferRaa 3 A o= DIt B #3HA Yolclidas! ol IURTP 3618301 3 ?

[Question ID = 1436][Question Description = S2_qSNz_PG_CLR_Q46]

1. Kathasaritsagar and Thomas Mann’s Transposed Heads/@wRisaRIPR 3R 2@l 316l &l giemalers 851 [Option ID = 5741]
2. Superman and Batman/Judot 6s dcdlol [Option ID = 5742]

3. Iliad and Ramayana/sferss siz 2w [Option ID = 5743]

4. Macbeth and Hamlet/d@de 3iik ke [Option ID = 5744]

37) Which of these is predicated primarily upon the search for influences?

forgatferRaa 3f 3 et PR Yeral 6 st I forerifya 2t 3

[Question ID = 1437][Question Description = S2_qSNz_PG_CLR_Q47]
French school/wif3rit fdaruerfer [Option ID = 5745]

American school/ 3wl faruafer [Option ID = 5746]

Latin American school/enfefor spRidh femamruefer [Option ID = 5747]

German school/s@ler ferare warfer [Option ID = 5748]

A W N -

38) Arrange the following books chronologically in terms of their first publication:
A. Wellek and Warren’s Theory of Literature

B. Susan Bassnett’s Comparative Literature: A Critical Introduction

C. Amiya Dev’s The Idea of Comparative Literature in India

D. Douwe W Fokkema’s Issues in General and Comparative Literature

Choose the correct answer from the options given below

forgatferRaa gzl @l IoId> Y YbI9lol @ PDICIRAGRIR =Iafi¥erd bifsm:
A. acde 3R ara 6 i sife foreyar

B. 33101 S30lc Bt waRfeq forc¥r : v ffeae sgisasrel

C. ¥R 3a & ¢ 3= sifs dafea feredar 3o $i3=n

D. si»a soc] BIDHT DI $9YoT Fal Slolel Us WFUled feredar

il fou s1e fyaseul 9 A W& 3= goi ¢



[Question ID = 1438][Question Description = S2_qSNz_PG_CLR_Q48]

A, B, C, D [Option ID = 5749]
B, A, D, C [Option ID = 5750]
A, C, D, B [Option ID = 5751]
D, A, C, B [Option ID = 5752]

)

A W N -

» Ay

39) Identify the correct sequence of the composition of the following works:
A. Chaucer’s Canterbury Tales

B. Boccaccio’s Decameron

C. Cervantes’ Don Quixote

D. Daniel Defoe’s Robinson Crusoe

Choose the correct answer from the options given below

forgorferRaa mferil b a6l @ A} srcima bl usarer Hifse
A. IR &l Dl oA

B. diofRmsil &t SdBIRIeT

C. waifoart & Stor Rraa=die

D .3forrer 3wl &6l 2Afdctor @ Al

il feu aru faresedl 3 A A8 Ia= goi ¢

[Question ID = 1439][Question Description = S2_qSNz_PG_CLR_Q49]
, D, C [Option ID = 5753]

, D [Option ID = 5754]

B
C,B

, D, A, C [Option ID = 5755]
A, C, D [Option ID = 5756]

A w N =

40) Match List | with List Il

List | List Il

(Text) (Adapted by)

A. Sophocles’ Antigone |. Gerard Depardieu
B. Boccaccio’s Decameron Il. Sophie Deraspe

C. Shakespeare's Macbeth Ill. Justin Kurzel

D. Moliere’s Tartuffe IV. Pier Paolo Pasolini

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hifre

et -1 et -1l

(gza®) (SRI BUiaoT )

A. Apraciist & efesifor |.3118 Surfey,

B .dImRRI & SaARIST 1. 3061 S

C. diqaftrir & dwaer lll.s1f¥<a1 woter

D. snferr &I ardud IV. R umsilcl uAlferslt

oifa feu aru faedl 3 A 8 3R gforo :
[Question ID = 1440][Question Description = S2_qSNz_PG_CLR_Q50]

A-11,B -1V, C-1ll, D - | [Option ID = 5757]
A-1ll,B-11,C-1,D- IV [Option ID = 5758]
A-1,B-1ll,C-1V, D - Il [Option ID = 5759]
A-1V,B-1,C-II, D -l [Option ID = 5760]

A w N =

41) Which domain of French tradition of Comparative Literature can be related to Jean Marc Moura’s work on “third world”

in French contemporary literature?



qeTolicdi AMfded &I BIRRI uRuRt @ i &I @I WiRkR el fdca 3 St Ard i & ‘dierdt giorn’ deh Faon A SISt S ADar & ?

[Question ID = 1441][Question Description = S2_qSNz_PG_CLR_Q51]
1. Myth Studies/ferbrr sieerror [Option ID = 5761]

2. Image Studies/yferfd@a siezrror [Option ID = 5762]

3. Reception Studies/spgur siezrIar [Option ID = 5763]

4. Analogy Studies/smgreun stezrror [Option 1D = 5764]

42) Which phase of love is associated with the flower mullai?

JCCIE gou 5 AT Y DT Blol AT AIRIII Aag 3 ?

[Question ID = 1442][Question Description = S2_qSNz_PG_CLR_Q52]
1. Lovers' Union/9fril @1 frctat [Option ID = 5765]

2. Lover's Unfaithfulness/gféril &1 dawrs [Option ID = 5766]

3. Patient waiting/«flzst @ e yeftem [Option ID = 5767]

4. Separation/fier [Option ID = 5768]

43) Which genre was popularized by Ezhuthachan’s Adhyatma Ramayana in Malayalam Literature?
FcRICE AR 3 vgerrast &Y 3EAH JARMI ERI Diol 21 ieht clinitpr 55 ?

[Question ID = 1443][Question Description = S2_qSNz_PG_CLR_Q53]
1. Kilippattu/feseug [Option ID = 5769]

2. Attakatha/smaen [Option ID = 5770]

3. Thullakkatha/geermaen [Option ID = 5771]

4. Krishnagatha/@wmener [Option ID = 5772]

44) Who among the following was the first Nobel laureate in literature from Latin America?
forgotferi¥aa 3 A cfcrol 3rAsidT A AT DI Yera olidel YR fdsiar it ar ?

[Question ID = 1444][Question Description = S2_qSNz_PG_CLR_Q54]

Pablo Neruda/ureecit aiser [Option ID = 5773]

Gabriel Garcia Marquez/afdret suf3ferr srzcbist [Option ID = 5774]
Octavio Paz/sitedferr urt [Option ID = 5775]

Gabriela Mistral/3ifderen et [Option ID = 5776]

AW N =

45) Who wrote the essay “The Translators of the Thousand and One Nights”?
" g gicied 3iie g en3sis Us ddl ofrscd " forder faparor forar e ?

[Question ID = 1445][Question Description = S2_qSNz_PG_CLR_Q55]

1. Jean Antoine Galland/ii wedisal siceig [Option ID = 5777]
2. Richard Francis Burton/fas wif3r=t adot [Option ID = 5778]
3. Jorge Luis Borges/sarmst ¢ diffar [Option ID = 5779]

4. Edgar Allan Poe/wssR uetet t [Option ID = 5780]

46) Which among the following series has used Greek and Roman mythologies extensively?
forgstferRae 31 31 Rp21 9jac 3 ool 311 361 URIVIG AT BT RITUD WU A GBI 331 3 ?

[Question ID = 1446][Question Description = S2_qSNz_PG_CLR_Q56]

1. Artemis Fowl Series by Eoin Colfer/uailsel @lct? &l 3rifdrt wiser gpaen [Option ID = 5781]

2. Percy Jackson Series by Rick Riordan/fse f33iicf &t ueff Siarier gzaen [Option ID = 5782]

3. The Inheritance Cycle by Christopher Paolini/figciws? umiféioft &t g seaf¥car amstder [Option ID = 5783]
4. Harry Potter Series by J. K. Rowling/a @ asfeisr &t 33t dfez gjaetr [Option ID = 5784]

47) Which text among the following has reference to the Iliad?

forgsifer3aea 31 A v ofer 3 sferrs @1 Ao amrer 3 ?
[Question ID = 1447][Question Description = S2_qSNz_PG_CLR_Q57]



. Derek Walcott’s Omeras/33® arcialc &t sit@zry [Option ID = 5785]

. Margaret Laurence's The Stone Angel/#ie a3t &1 G 2clor woler [Option ID = 5786]

. Gunter Grass’s The Tin Drum/sjcz a1 &t G feo1 ga1 [Option ID = 5787]

. Jose Saramago’s The Travellor’s Baggage /3 3zaell &1 G qdecid dalst [Option ID = 5788]

A W N -

48) Which of the following is claimed to be the source of the first half of Javanese Ramayana Kakawin?

forgaifeiRaa 31 A b1 & an 3 AIg grar fas=n Sirdr 3 fop ag Sirar &t AARIVT Bbifder B GRIH 3BT Bl Jd & 7

[Question ID = 1448][Question Description = S2_qSNz_PG_CLR_Q58]
. Ravanavadham/zasrazrer [Option ID = 5789]

. Uttararamacarita/3aerai¥a [Option ID = 5790]

. Anargha Raghava/ 3wt Jraa [Option ID = 5791]

. Ramabhyudaya/zmswgea [Option ID = 5792]

A WN -

49) What is Bakhar in Marathi Literature?

RISt AfzcT A g = & ?

[Question ID = 1449][Question Description = S2_qSNz_PG_CLR_Q59]

1. Novel/3ucart

[Option ID = 5793]
2. Chronicle of Historical Events/ @R acormsit @t e

[Option ID = 5794]
3. Ballad/sren sfia

[Option ID = 5795]
4. Play/olicd

[Option ID = 5796]

50) Which among the following Hindi films is an adaptation of Shakespeare's play Comedy of Errors?

forgoifeiRaa & A diar 2t 126 fbcar IaaftRIz & sircds DA 3ifs ved &I FJuiaR & ?

[Question ID = 1450][Question Description = S2_qSNz_PG_CLR_Q60]

. Angoor/sisR [Option ID = 5797]

. Chhoti Si Baat/®It 2ft ara [Option ID = 5798]

. Rang Birangi/31 fazsft [Option ID = 5799]

. Baton Baton Mein/ardi ardl 3 [Option ID = 5800]

A WN -

51) What are the two theories Jauss had used in his essay "Literary History as a Challenge to Literary Theory"?
A. Structuralism

B. Marxism

C. Post - Structuralism

D. Formalism

Choose the correct answer from the options given below:

SilT oY 31Ul foreier * RSt 33} wet © Acist ¢ fRre¥ft et " 3 wblor A < Rigial w1 gier fapen 3 ?
A. 3izolrarg

B. sra=iag

C. Sar-Aereldg

D. situanfy@ararg



offc feu aru faredl 3 2 A8l 3= ol ¢

[Question ID = 1451][Question Description = S2_qSNz_PG_CLR_Q61]
1. Aand B only/d>aer A iz B

[Option ID = 5801]
2. Band D only/daet B siiz D

[Option ID = 5802]
3. Aand Conly/@dact A sz C

[Option ID = 5803]
4. Cand D only/@act C siiz D

[Option ID = 5804]

52) Which among the following are texts written by Vishnudas of Gwalior?
A. Svargarohan

B. Pandav-Carit

C. Narasardula

D. Hammiramahakavya

Choose the correct answer from the options given below:

forsaiferRaa 3 A1 vt iRl Bt Faern saiferR & fasvlerT o &t 3 ?

A. Fge1iRisur
B. uisa-afsa
C. sRIgen

D .z#ikawImIa

oii<l feu are fameal 3 A A3l IR ol ©

[Question ID = 1452][Question Description = S2_qSNz_PG_CLR_Q62]
1. A and B only/dact A siiz B

[Option ID = 5805]
2. Band C only/@act B siiz C

[Option ID = 5806]
3. Cand D only/@qa C sik D

[Option ID = 5807]
4. Aand D only/dact A siiz D

[Option ID = 5808]

53) Who among the following have been named as patrons of Comparative Literature in Saussy Report
A. Madame de Stael

B. Jonathan Swift

C. Voltaire

D. Hugo Meltz!|

Choose the correct answer from the options given below:

Arfl Ralé 3 foesifciRan 3 A fpord! delolicd® A D AHWID D w4 I olfdre v srm 3 ?



A. Fea © Fda
B. Silotrerst Raue
C. AR

D. gen Acdsa

offcl feu sru el 3 2 Al = goi ¢

[Question ID = 1453][Question Description = S2_qSNz_PG_CLR_Q63]
1. Aand D only/a@act A siiz D

[Option ID = 5809]
2. Band C only/daet B aiiz C

[Option ID = 5810]
3. Band D only/daet B sfiz D

[Option ID = 5811]
4. Aand Conly/@ae A siz C

[Option ID = 5812]

54) Who among the following authors have adopted Shakespeare's The Tempest ?
A. Aime Cesaire

B. Jean Paul Sartre

C. Margaret Atwood

D. Thomas Mann

Choose the correct answer from the options given below:

forgatferiRaa clrawml 3 A o6l daARR & dlicd ¢ cFdIe I Wuiar foon 8 ?

A.ua Bk
B. sui dier 2]
C. aphe vegs

D . eifara Aror

oii<l feu are fameal 3 A Al Ia= ol ©

[Question ID = 1454][Question Description = S2_qSNz_PG_CLR_Q64]
1. Band D only/dqct B sfic D

[Option ID = 5813]
2. Aand B only/dact A iz B

[Option ID = 5814]
3. Band C only/daet B aiiz C

[Option ID = 5815]
4. Aand C only/@aet A siiz C

[Option ID = 5816]

55) Beside Goethe, which among the following had discussed about world literature?
A. Friedrich Schlegel
B. Immanuel Kant

C. Johann Gottfried Herder



D. Denis Diderot

Choose the correct answer from the options given below:

a1 @ siferfy forgaiferRaa 3t 31 fapar- fpar o fara nfdcr & aR & ot 61 8 ?

A. gsfrm e
B.sdo131c1 i

C. Sifol sSNCHBRIS 362
D.3fora fecla

offc feu sru el 3 2 Al = goi ¢

[Question ID = 1455][Question Description = S2_qSNz_PG_CLR_Q65]

1. Aand C only/@det A 3 C

[Option ID = 5817]
2. Band D only/daet B sz D

[Option ID = 5818]
3. Cand D only/a@aer C 3iiz D

[Option ID = 5819]
4. Band C only/a@ae B aik C

[Option ID = 5820]

56) Match List | with List Il

List | List 1l

(Book) (Author)

A. Candayan I. Mir Sayyid Manjhan

B. Mirigavati Il. Maulana Daud

C. Padmavat lll. Qutban

D. Madhumalati IV. Malik Muhammad Jayasi

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hifre

et -1 et -1l

( geam® ) ( oD )

A .Togt 1. 3z I=ac Fstel

B. faif¥omacht I, sitetron Sig

C. ugaraa Ill. aser

D. srggareredt IV. aufero gaarc SIRRA

il fou s1e frpeul 3 3 A8 IR gforw ©
[Question ID = 1456][Question Description = S2_qSNz_PG_CLR_Q66]

A-1I,B-1V,C-1,D - Il [Option ID = 5821]
A-1I,B-1,C-1I,D- IV [Option ID = 5822]
A-11,B-1II,C-1IV, D - | [Option ID = 5823]
A-1V,B-1,C-1l,D - lll [Option ID = 5824]

A W N -

57) Match List | with List Il

List | List Il

(Book) (Author)




A. Coir I. Kamala Das

B. My Grandfather Had an Elephant |ll. Gulvadi Venkata Rao
C. Indira Bai Ill. T. S. Pillai

D. My Story IV. Vaikom Muhammad Basheer
Choose the correct answer from the options given below:

et -1 B e -1l A g i

et -1 et -1l

( gz ) ( oD )

A. DRR |. wac sra

B. dIRI 3[SWBIc? 35 ol Ucilbe Il. speradt dawe Ia

C. $fiear e lll. & . g . focars
D. #RI 31 IV. arioIH Feaaac aoilz

il fou o1 frseul 3 3 A IR gfom ©
[Question ID = 1457][Question Description = S2_qSNz_PG_CLR_Q67]

A-11,B-1,C-1V, D - Il [Option ID = 5825]
A-1I,B-1V, C-1,D - Il [Option ID = 5826]
. A-1I,B-1I,C-1V, D - | [Option ID = 5827]
A-1lI,B-1V, C-1l,D - [Option ID = 5828]

A W N -

58) Match List | with List Il

List | List Il

A. Motif I. Blackness
B. Situation Il. Phaedra

C. Topos Ill. Reverence
D. Situational Theme IV. Envy

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hifre

et -1 et -l

A. 3ifdrgrRr | . prferan

B. ufsf¥erfer Il. 31 Phaedra
C. Ferctrolaya ( AAXST ) 1. gxet

D. afef¥erfer smenfea foroer V. Swi

off<l feu ore fpedl 3 A A8 3R gfore :

[Question ID = 1458][Question Description = S2_qSNz_PG_CLR_Q68]
1. A-1,B-1I,C-1V,D-1

[Option ID = 5829]
2. A-1L,B-1V,C-1,D-Il

[Option ID = 5830]
3. A-1,B-1,C-1V,D-1ll

[Option ID = 5831]
4. A-IV,B-1,C-1l,D-1l

[Option ID = 5832]

59) Arrange chronologically the following authors
A. Moliere

B. Plautus

C. Aristophanes

D. Oscar Wilde

Choose the correct answer from the options given below



forgaiferRaa Al B! BIaTRAGRIR Raf¥erd Hifse
A. nfery

B. twiiga

C. sif¥zarwefist

D. siiz®m? arscs

offc feu sru el 3 2 A8l = goi ¢

[Question ID = 1459][Question Description = S2_qSNz_PG_CLR_Q69]
1. D, A, B, C

[Option ID = 5833]
2. C,B,A,D

[Option ID = 5834]
3. B,A,D,B

[Option ID = 5835]
4. D,C,B,A

[Option ID = 5836]

60) Arrange the following texts chronologically according to the publication dates -
A. Sula

B. Mrs. Dalloway

C. Wide Sargasso Sea

D. Jane Eyre

Choose the correct answer from the options given below

forgoiferRaa gaaml @l Ioid YpI9rel fAfRRRIT & DIcTReRIR Rdi¥ed Hbifsie

A. e

B. faif3rst stena

C. arss a1vomral 1

D. ot 3R

sifa feu o1e fameul & 3 JEl 3R ol ©

[Question ID = 1460][Question Description = S2_qSNz_PG_CLR_Q70]
1. B,C,A,D

[Option ID = 5837]
2. D,B,C, A

[Option ID = 5838]
3. C,A,B,D

[Option ID = 5839]
4. A, C,B,D

[Option ID = 5840]

61) Arrange the following texts chronologically according to the publication dates -
A. Kaghazi Hai Pairahan

B. Pratham Pratishruti



C. Agnisakshi
D. Pinjar

Choose the correct answer from the options given below

forgoiferRaa graml @l oid YaI9re fAfRIT & DIeIqpdeRIR Rai¥ed bifsie

A. @l & st
B. gear yrgfa
C. sfdorameft

D. fiore

oif<l feu are fameal 3 A A3l = ol ¢

[Question ID = 1461][Question Description = S2_qSNz_PG_CLR_Q71]
1. D,B,C, A

[Option ID = 5841]
2. C, A, B,D

[Option ID = 5842]
3.B,D,C A

[Option ID = 5843]
4. A, C,B,D

[Option ID = 5844]

62) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: There cannot be a uniform periodisation model for Indian language - literatures.
Reason R: Multilingualism and multiregionalism prevent a harmonious synchrony or diachrony.

In light of the above statements, choose the correct answer from the options given below

ofl Sl ool fRu s 3 ua B siftirperet (A) iR gIR @I ads (R) @ar SR 3

aifdrperet (A) : AR siTen Afdcr @ fore oI v A3Tel raffra2ur dise o1&l 8 Adar 3
a® (R) : agvmumErs iR Sgdiqarc JRc AADITDAr seral YesIRmar @ Add 3
SWRITb Dercll @ el 3 forgotifind el i A A8 3a= got :

[Question ID = 1462][Question Description = S2_qSNz_PG_CLR_Q72]

1. Both A and R are true and R is the correct explanation of A/(A) iz (R) clali 3@ 8 3z (R), (A) &1 3@ =m=n & [Option ID = 5845]

2. Both A and R are true but R is NOT the correct explanation of A/(A) iz (R) glail 31t & wesg (R), (A) &t 3t =m=n ot & [Option ID = 5846]
3. Ais true but R is false/(A) 3@ 2 u3sg (R) 2 ordt 8 [Option ID = 5847]

4. Ais false but R is true/(A) 3@l o8l 3 woq (R) A8t & [Option ID = 5848]

63) Which part of India do the stories of Temsula Ao primarily focus on?
$IRA D Dlol A IS 3 ARl 3 IR IRAM: D dicll  DalfoRIl DI Fcel Bl &
[Question ID = 1463][Question Description = S2_qSNz_PG_CLR_Q73]
Manipur/aforgz [Option ID = 5849]

Nagaland/amerrcts [Option ID = 5850]

Tripura/fegar [Option ID = 5851]
Assam /3w [Option ID = 5852]

A wWN =

64) Who, among the following, recently brought the writings of Sarala Devi to the foreground by editing an anthology of
her writings in English translation called The Lost World of Sarala Devi?



forratferRaa & A fopaol e St bl Faamsii Bl a1c1 & A < clive acS sifw IRcr Sl B oIEt A 3FYE AAIG SR Joldbl DicRIl & oL b1
Aurfed oI IPPRIPT adb o R 7

[Question ID = 1464][Question Description = S2_qSNz_PG_CLR_Q74]

. Sachidananda Mohanty/ifeacreis siiedt [Option ID = 5853]

Jatindra Kumar Nayak/siféig @R smeres [Option ID = 5854]

Himanshu Sekhar Mohapatra/f2sig] 9raz aileurey [Option ID = 5855]
Animesh Mohapatra/sifemior disurey [Option ID = 5856]

A W N -

65) To which country did Bertolt Brecht acknowledge his debt for The Caucasian Chalk Circle?

DIDIIRIGT AD AD UGl SBUT B 91 DI Actce dac of e fern

[Question ID = 1465][Question Description = S2_qSNz_PG_CLR_Q75]

1. India/emza [Option ID = 5857]

2. China/dlar [Option ID = 5858]

3. Japan/smrer [Option ID = 5859]

4. Sri Lanka/gfcier [Option ID = 5860]

66) Who, among the following, are writers who wrote primarily in Urdu?
A. Amrita Pritam

B. Ismat Chugtai

C. Bhisham Sahni

D. Kaifi Azmi

Choose the correct answer from the options given below:

forgsiferRad 3 3 wlel A WA @ & Riodlel #¥=IA: 3¢ I el b & ?

A siggen fan

B.s¥ara gorans

C.sffvar amsofl

D .36l sl

[Question ID = 1466][Question Description = S2_qSNz_PG_CLR_Q76]

. Aand B/A s B [Option ID = 5861]
. B and D/B aiiz D [Option ID = 5862]
. Aand C/A aiiz C [Option ID = 5863]
. Cand D/C iz D [Option ID = 5864]

A W N -

67) Who, among the following, are associated with Bangla Dalit literature?
A. Sunil Gangopadhyay

B. Kalyani Thakur

C. Manju Bala

D. Omprakash Valmiki

Choose the correct answer from the options given below:

forgsiferRae 31 3 Plel oTen cfera A3 A Fe«fe 3 ?

A . Jofler siehureRaRI

B.@c=vfl orage

C. 313 arent

D . sffergepror anfeardht

[Question ID = 1467][Question Description = S2_qSNz_PG_CLR_Q77]



. Aand B/A afz B [Option ID = 5865]
. Aand C/A siiz C [Option ID = 5866]
. Band C/B iz C [Option ID = 5867]
. B and D/B aiiz D [Option ID = 5868]

A W N -

68) Match List | with List Il

List | List Il

(Story) (Author)

A. “Peshawar Express” I. Bibhutibhusan Bandyopadhyay|
B.“We Have Arrived in Amritsar” |ll. Rajinder Singh Bedi

C. “Lajwanti” lll. Krishan Chander

D. “Acharya Kripalani Colony” IV. Bhisham Sahni

Choose the correct answer from the options given below:

et -1 B e -1l A g i

oxeft - (avarott ) oxeht -1l (Qraes )
A. "OomeR waAgRA " | ferafersizaor  ScIare=IRI
B."dl 3a wardcs sol PR " 11.3f5ic2 Riz adt
C."etrstao<dt " . apeot icz

D. "sirarRi Guetrofl wiclioft IV. sficar a1a0il

oifcl feu aru fawedl 3 A A8 3R gfore :
[Question ID = 1468][Question Description = S2_qSNz_PG_CLR_Q78]

A-1,B-1l,C-1ll, D - IV [Option ID = 5869]
A-11,B-1Il,C-1V, D - [Option ID = 5870]
A-1I,B-1V,C-1l,D -1 [Option ID = 5871]
A-1V,B-1ll,C-1,D - Il [Option ID = 5872]

A W N -

69) Match List | with List Il

List | List Il

(Book) (Author)

IA. The Weave of My Life |. Baby Kamble
B. A Life Less Ordinary Il. Kamala Das
C. My Story Ill. Urmila Pawar
D. The Prisons we Broke IV. Baby Halder

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hife

et -1 (gra ) et -1l (S )
A.< dla 3ife ART ars®B | .9l wrFaa
B.u cIIs® o1 3fSordt |l @arett g1
C.3RT 3238 lll.3f3fer uar

D .5 fOsiotr &t i V.94 a2

oif<l feu aru famedl 3 A A8 3R gfore :

[Question ID = 1469][Question Description = S2_qSNz_PG_CLR_Q79]
1. A-1,B-1I,C-1V,D-1

[Option ID = 5873]
2. A-1,B-1l,C-1l,D-IV

[Option ID = 5874]
3. A-IV,B-1I,C-1,D- 1l

[Option ID = 5875]
4. A-1I,B-1V,C-1l,D-1

[Option ID = 5876]



70) Which of the following theorists conceptualised sahitya as the union of sabda and artha ?

forgaifeiRaa 31 A b1 Rigiaarct of grec 3R 31ef @ Al @ »u 3 Afdea &l sraemon &= ?

[Question ID = 1470][Question Description = S2_qSNz_PG_CLR_Q80]
1. Bhartrihari/sfafs

[Option ID = 5877]
2. Bhamaha/smas

[Option ID = 5878]
3. Jagannatha/Swereoter

[Option ID = 5879]
4. Bharata/sra

[Option ID = 5880]

71) Which among the following sets is not related to the philosophy of Sufism

forgotferfiaa 3 A Blot AT TPcRT THIAT D gofor A AFfRIT ordk 3

[Question ID = 1471][Question Description = S2_qSNz_PG_CLR_Q81]
Ishg-e-majazi, zahir/se® -v -s=mst, sufge [Option ID = 5881]

ljtehad, sul-e-qul/ssdsIc ,Je1-u -@et [Option ID = 5882]

Batin, ishqg-e-haqiqi/aiferer ,59% -u -abidbt [Option ID = 5883]

Ishraq, baqaa/s9eri®m,gadmr [Option ID = 5884]

A W N -

72) Arrange in chronological order
A. Mahadvei Akka

B. Lal Ded

C. Bahina Bai

D. Andal

Choose the correct answer from the options given below:

BICTGATGRIR B I craf¥era Hifsmg ?

A . o1B18E sramr

B.eret 35

C.sfgom s

D.sister

il feu aru farasedl 3 A A8 IR @1 TRt HifSe

[Question ID = 1472][Question Description = S2_qSNz_PG_CLR_Q82]

D, A, C, B [Option ID = 5885]
A, D, B, C [Option ID = 5886]
B, C, A, D [Option ID = 5887]
D, A, B, C [Option ID = 5888]

A w N =

73) Match List | with List Il

List | List Il

(World Literature Theorists) (Theories)

A. Pascale Casanova I. distant reading

B. Franco Moretti Il. uneven development

C. Warwick Collective Ill. all literature that circulates in the world
D. David Damrosch IV. world republic of letters

Choose the correct answer from the options given below:



et -1 B e -1l A g i

Rrreht -1 ( fora fdca formees ) Rpeht -1l ( Rreria )

A .ar9d>el PRITGIET |.f53¢c 3fSar

B . micpT ¥l Il. 361561 3acrudic

C.arfde wafiea Il 3iret forc¥er Se Avmpeie ol § acs
D.3fs cqled IV.acs frafeaa siiw cref

oif<l feu ore fpedl 3 A 38 3R gfore :
[Question ID = 1473][Question Description = S2_qSNz_PG_CLR_Q83]

A-1,B-1I, C-1l,D-IV[Option ID = 5889]
A-1V,B-1,C-1l,D-Ill [Option ID = 5890]
A-11,B-1,C-1l,D-IV[Option ID = 5891]
A-1Il,B-1l,C-1,D-IV[Option ID = 5892]

A W N -

74) Which of the following are examples of different styles or “Riti” as proposed by Dandin ?
A. Gaudiya

B. Vaidarbhi
C. Kashmiri
D. Dakhni

Choose the correct answer from the options given below:

forgsiferRaa 3 @lot A G3To1 w1 yferunfea fafdroot iferil srerar fifer @ Igerur & ?
A siis

B.dcait

C.oodltst

D. cxoll

il fou o1 fraseul 3 3 I IR BT w6l HIfSIE :

[Question ID = 1474][Question Description = S2_qSNz_PG_CLR_Q84]

1. Aand C/A iz C [Option ID = 5893]
2. Band C/B 3ir C [Option ID = 5894]
3. Band D/B siz D [Option ID = 5895]
4. Aand B/A 3z B [Option ID = 5896]

75) Who among the following had composed Tiru Catakam ?
forgaifeiRaa 3 A fors depa &t o fdprar foam o ?

[Question ID = 1475][Question Description = S2_qSNz_PG_CLR_Q85]
1. Surdas/3era [Option ID = 5897]

2. Bhalan/ssetror [Option ID = 5898]

3. Mannika Vasahar/afsorr ais2 [Option ID = 5899]

4. Narayan Tirtha/smrmwr dief [Option ID = 5900]

76) Who among the following had introduced the comparison between literature and other arts?

forgotferi3aa 9 A ool AMEA 3iIR 316 g Dell D faRIl B T getoll DIl YrRY fopar ?

[Question ID = 1476][Question Description = S2_qSNz_PG_CLR_Q86]
1. Henry Remak/3srt 31 [Option ID = 5901]

2. Paul van Tieghem/dfet arer fediar [Option ID = 5902]

3. Peter Szondi/dlez FSiict [Option ID = 5903]

4. H. M. Posnett/wa. var. drort [Option ID = 5904]

77) In which language Gathasaptasati was composed ?

STARTFRI I ool b2t srenr & g3 ?
[Question ID = 1477][Question Description = S2_qSNz_PG_CLR_Q87]



Sauraseni Prakrit/3ite3ft graga [Option ID = 5905]
Magadhi Prakrit/amerd gra [Option ID = 5906]
Paisaci Prakrit/@ermrft gyrapa [Option ID = 5907]
Maharastri Prakrit/#@rRrest grapa [Option ID = 5908]

A w N =

78) Among the following plays by Bhasa which are based on Udayana story ?
A. Avimaraka

B. Pratijnayaugandharayana

C. Dutavakya

D. Svapnavasavadatta

Choose the correct answer from the options given below:

A GRI MR forgonfeiRad oiicad A A DBlol AT sllcd IeIel daloll U menfa & ?

A sifdar®
B.yferssiriisiemRrRvT
C.gaaraa

D .>aterartacHdr

offcl feu aru frpedl 3 2 Al = goi ¢

[Question ID = 1478][Question Description = S2_qSNz_PG_CLR_Q88]
1. Aand C only/@det A 3k C

[Option ID = 5909]
2. Band D only/daet B sz D

[Option ID = 5910]
3. Aand D only/daea A siiz D

[Option ID = 5911]
4. Band C only/a@ae B sik C

[Option ID = 5912]

79) Which of the following are true of gasida as a form ?
A. It is related to qgissa

B. It is Arabic in origin

C. It is a narrative form

D. It has a single meter throughout

Choose the correct answer from the options given below:

forgoifeiRaa & A dlol A wAlcT @ v WU faenor @ diz I8 8 ?

A .5 ooz A Fdfea 3
B.s2rchl 3cufer spa A 88 @

C.u8 f[ARuIcA® YPR BT 3

D .3313 gulaan wwer ardl 3

il fou s1u fyeseul 3 21 & 3a= goi ¢

[Question ID = 1479][Question Description = S2_qSNz_PG_CLR_Q89]



1. Aand B only/@act A sz B

[Option ID = 5913]
2. B and D only/daet B siiz D

[Option ID = 5914]
3. Aand D only/@act A iz D

[Option ID = 5915]
4. Band C only/dae B sz C

[Option ID = 5916]

80) Match List | with List Il

List | List Il

(Play) (Dramatist)

IA. Madhyama - vyayoga I. Vishakhadatta
B. Mudrarakshasa Il. Bhavabhuti
C. Priyadarsika lll. Bhasa

D. Malatimadhava IV. SriHarsha

Choose the correct answer from the options given below:

et -l oot 3 -1l A Fafera Hifste :

Rreht -1( ofre ) Rxedl -1l (siicp®R )
A . FTERIEAT -SRARIIBT | fromacd

B .qIqrRIgR T 1. sxrasgfer

C. Rprcidfmr 1. 311

D . srereilanera IV. ofted

il fou s1e fyseul 3 3 A8 IR o ©
[Question ID = 1480][Question Description = S2_qSNz_PG_CLR_Q90]

A-1,B-1V,C-1,D-Ill[Option ID = 5917]
A-1Il1,B-1,C-1V,D-Il[Option ID = 5918]
A-IV,B-1lll,C-IlI,D-1[Option ID =5919]
A-IV,B-1,C-1l,D-Ill [Option ID = 5920]

A wWwN -

81) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: A language is but the medium of expression of a people.
Reason R: It is the people who shape the language and give it the impress of their own character and life.

In light of the above statements, choose the correct answer from the options given below:

il €1 perol i aw 31 uep i sifdrperet (A) 3l R @1 aa (R) @ar sk 3
atfdrpeet (A) @ YT STol fARTD DT ATERMA 3
awm (R) : <lvT 49T DI PR &d 8 3iI= U6l IRl D afed 3ii= Sliael dI 81a a8

IWRfTe Dl B el i forotifepa faeal 3 2 A8 3= ol ¢

[Question ID = 1481][Question Description = S2_qSNz_PG_CLR_Q91]

1. Both A and R are true and R is the correct explanation of A/ (A) 3iiz (R) gleil 2@t 2 3z (R), (A) &t 3 caren &
[Option ID = 5921]
2. Both A and R are true but R is NOT the correct explanation of A/(A) siiz (R) clail 3@l 8 woq (R), (A) &t 38 ®m=n oidt & [Option ID = 5922]
3. Ais true but R is false/(A) & @ w3oq (R) 2@t adt & [Option ID = 5923]
4. Ais false but R is true/(A) @l ol & weoq (R) 2@t & [Option ID = 5924]

82) Given below are two statements

Statement I: Literature adds to reality, it does not simply describe it.



Statement II: There is no such thing as literary fashion.

In light of the above statements, choose the most appropriate answer from the options given below:

ofid <Y weret 3w a1e 3 &
Do - | : wfdca aenef o1 aviet s &t ofdl wan & , As A Sirsar sft 3
@erel - |l : affeas Boror Szl DI st oidf @

SWRTP Dol B 3Mrclid I forotfeil¥aa frapeul 3 3 Aaiferm SUYD 3= Yol :

[Question ID = 1482][Question Description = S2_qSNz_PG_CLR_Q92]

1. Both Statement | and Statement Il are correct/aemr | siiz |l Sx6if 23t & [Option ID = 5925]
2. Both Statement | and Statement Il are incorrect/aerwr | aiiz || Sloit 3@l orét & [Option ID = 5926]
3. Statement | is correct but Statement Il is incorrect/wemt | &t 2, fvoq werear || 3@t ot 8 | [Option ID = 5927]
4. Statement | is incorrect but Statement Il is correct/@emr | 3@t o8t @ , fbog et |l 3@ & [Option ID = 5928]
83) Arrange the following works in their chronological order:

A. Tughlug-namah

B. Banalata Sen

C. Kayar

D. Tirukkural

Choose the correct answer from the options given below
forraiferRaa FereInsil Bl Io1d BITGAHGRIR raferd Hifs:

A. gerer- a1
B. gotcrar Aar
C. orR

D. fasaqe
il fou s1e fraseul 9 21 & 3a= goi ¢

[Question ID = 1483][Question Description = S2_qSNz_PG_CLR_Q93]
1. B,D,C, A

[Option ID = 5929]
2. D, A, B,C

[Option ID = 5930]
3. D,B, A C

[Option ID = 5931]
4. A,C,D,B

[Option ID = 5932]

84) Match List | with List Il

List | List Il

(Adaptation) (Director)

A. To Kill a Mocking Bird I. Francis Ford Coppola
B. One Flew Over The Cuckoo’s Nest |[Il. Robert Mulligan

C. Sense and Sensibility lll. Milos Forman

D. Apocalypse Now IV. Ang Lee

Choose the correct answer from the options given below:



et -1 Bt 3l -1l A AR Hifre

et -1 et -l

(suier2) (forerep)

A. ¢ fiper © #ifdoar a5 |. BRI WIS wulen
B. o1 weisllar ¢ @ags olec 1. 3¢ FGicoror

C. Ao vs ARl 111, f3rci1 wisfor

D. vuldferRt ol IV. dor it

oifa feu aru faasedl 3 A A8 3R gforu :

[Question ID = 1484][Question Description = S2_qSNz_PG_CLR_Q94]
1. A-1,B-1Il,C-1V,D-1l

[Option ID = 5933]
2. A-1ILB-1V,C-11,D-I

[Option ID = 5934]
3. A-1,B-1I,C-1V,D-I

[Option ID = 5935]
4. A-IV,B-1,C-1I,D-1ll

[Option ID = 5936]

85) Who among the following is the source of Chinua Achebe’s title, Things Fall Apart?

Rrop3m 3rde b £2/e31 wrer srurd ofids grad ot foworferlRaa 3 A ®lot Pa 3?

[Question ID = 1485][Question Description = S2_qSNz_PG_CLR_Q95]
1. William Shakespeare/faférmr d=iftrr [Option ID = 5937]

2. Matthew Arnold/dtesameifes [Option ID = 5938]

3. W. B. Yeats/ssq. dl. acat [Option ID = 5939]

4. T.S. Eliot/duaskric [Option ID = 5940]

86) Who among the following wrote a novel entitled Pather Panchali that led to Satyajit Ray’s celebrated film?

forgoiferRaa 3 3 urd? uiarefl 9fitds a SusaRI fopTal forar SR U= Il 3 &t yzma fiscar woft ?

[Question ID = 1486][Question Description = S2_qSNz_PG_CLR_Q96]
1. Manik Bandopadhyay/ufoie deturearr [Option ID = 5941]

2. Bibhutibhushan Bandyopadhyay/fspfersmmr sigtarerr [Option ID = 5942]

3. Premendra Mitra/gtog farer [Option ID = 5943]

4. Narayan Sanyal/smrvr 2eeret [Option ID = 5944]

87) Where did the devotional poets known as ‘Alwars’ and ‘Nayanmars’ emerge?
‘sreard’ 3R "oRIGIRY’ @ U 3 S HiTD DIRIl DI 36 sl UR g3 7

[Question ID = 1487][Question Description = S2_qSNz_PG_CLR_Q97]
. South India/gfér smza [Option ID = 5945]

Kashmir/@e#fiz [Option ID = 5946]

Gujarat/srRia [Option ID = 5947]

Assam /3w [Option ID = 5948]

A wWw N =

88) Match List | with List Il

List | List Il

(Book) (Author)

A. Sirakukal muriyum I. Ismat Chughtai
B. Lihaaf Il. Mahasweta Devi
C. Hajar Churashir Maa lll. Pratibha Ray

D. Yajnaseni IV. Ambai

Choose the correct answer from the options given below:



et -1 Bt 3l -1l A AR Hife

et -1 it -l

( gea® ) (oraw )

A. Rrrame af s |. svara gereas
B. ferere Il. ssredar gt
C. &3IR AR At Ill. gfersm
D. IsolRIcl IV. sFars

offa fou s1u fRrpeul 3 3 A I gforw ¢
[Question ID = 1488][Question Description = S2_qSNz_PG_CLR_Q98]

A-1V,B-1ll, C-1I, D - | [Option ID = 5949]
A-1ll,B-1V, C-1I, D - | [Option ID = 5950]
A-11,B-1ll, C- 1V, D - | [Option ID = 5951]
A-1V,B-1,C-1l,D- Il [Option ID = 5952]

A WN -

89) Who is the author of Maila Anchal?

JIctl 3iifael b1 TRA® Diol & ?

[Question ID = 1489][Question Description = S2_qSNz_PG_CLR_Q99]
Agyeya/ar=rI [Option ID = 5953]

Phanishwar Nath Renu/wvuftsaz srrer 3up [Option ID = 5954]

Jayashankar Prasad/srigipz geiie [Option ID = 5955]
Premchand/Jgrass [Option ID = 5956]

A w N =

90) In which of the following countries the Ramayana is adapted as the Ramakien?

forgotferRaa 3f 3 fap2r Sor 3t PRIV @1 Wwmfsd ( Ramakien ) @ wa 3 waiaR g3m & ?

[Question ID = 1490][Question Description = S2_qSNz_PG_CLR_Q100]
Myanmar /iR [Option ID = 5957]

The Philippines/fisefidiar [Option ID = 5958]

Thailand/erécts [Option ID = 5959]

Indonesia/gsiaifgrn [Option ID = 5960]

A W N -

Topic:- GP_20NOV_A_SH2

1)

The given table presents the percentage distribution of teachers and ratio of male to female teachers working in a
university in six different subjects (A-F). There is a total number of 1600 teachers in the University. Based on the data in
the table, answer the questions that follow

Subject-wise Distribution of Teachers

Subjects Percentage (%) of TeachersRatio of Male to Female Teachers|
A 13% 1:7
B 18% 5:3
C 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

arufl d fSu 31U sifews] @ smeR U gesll @ 3a= difsie @

forearferRaa 1rufl b1l feraferenert 3 srerer - 3rcmT freril 3 (T-uw) DRIz srearum] @1 gferord scel 3R [eATUD] qell 3reATfIsii & 3ro[urd
@l yqd @il 8 faeafener 3 @et sreamael & i 1600 & ARl # 621 3R sifps! @ MR R Yool 1-5 dp D IR S :

31eAUD] DI fARIAR dear :




13% 1:7
18% 5:3
12% 1:3
21% 3:4
14% 9:5
22% 7:9

lRrerer psrearaast Bt yfererar (% )siearaw siiz sreenfrisii S Rt
A
B
C
D
E
F

Total number of teachers in Subject-C is approximately what percent of the total number of female teachers in Subject-D
and Subject-A together?

fererr-C 3 sre=mmuet bt aget e, farerr-D siie farerr-A 3 aifafera u 34 srenftresiail &bt aget e o1 yferora & ?

[Question ID = 3626][Question Description = S2_qSNz_PG_GP4_Q01]
1. 58

[Option ID = 14501]
2. 43

[Option ID = 14502]
3. 47

[Option ID = 14503]
4. 51

[Option ID = 14504]

2)

The given table presents the percentage distribution of teachers and ratio of male to female teachers working in a
university in six different subjects (A-F). There is a total number of 1600 teachers in the University. Based on the data in
the table, answer the questions that follow

Subject-wise Distribution of Teachers

Subjects |Percentage (%) of TeachersRatio of Male to Female Teachers|
A 13% 1:7
B 18% 5:3
(o 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

Arvil 3 f3u o1 3ifds] B smemR uz gosll & Iar S :

forgotferiRaa 2ar=vil fip=il Rreafdernern # st - a1l f[erll 3 (T-u) DRI reAad] oI YieIord scol 3R EATUD] daT eATTUDII O 3ourd
@l yFgd ol 3 [rafdencrn 3 et sreamam! &l e 1600 3 ArRvfl 3 R oR) ifos! @ R R Yool 1-5 b D 3mR S ¢

31eAUD] DI fARIAR dcal :

13% 1:7
18% 5:3
12% 1:3
21% 3:4
14% 9:5
22% 7:9

frerr areemuast B gfereraarn (% )preamads siiz stemnftapiaii bl gferoraar
A
B
c
D
E
F

What is the difference between the total number of teachers in Subject-F and the total number of male teachers in



Subject-A and Subject-B together?

fererr-F 3 gt siezmaepl &b s SiiR fareri-A aen faerRr-B 3 wifdafera su A sreamuen] 6t Jizen o | fepdon siaR 3 ?
[Question ID = 3627][Question Description = S2_qSNz_PG_GP4_Q02]
1. 192

[Option ID = 14505]
2. 182

[Option ID = 14506]
3. 146

[Option ID = 14507]
4. 136

[Option ID = 14508]

3)

The given table presents the percentage distribution of teachers and ratio of male to female teachers working in a
university in six different subjects (A-F). There is a total number of 1600 teachers in the University. Based on the data in
the table, answer the questions that follow

Subject-wise Distribution of Teachers

Subjects |Percentage (%) of TeachersRatio of Male to Female Teachers|
A 13% 1:7
B 18% 5:3
C 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

ArRvufl # fSu s1u sifdst @ MeR U gosll & 3= difsme @

forgoiferRaa ar=vil fdpil Rrafdencrn 3 i1 - 31T f[erll 3 (T-u) DRI reAaw™] oI YieIord scol 3R 3EATUd] daal IeATUIPI3i @ ro[urd
Dl g ol 3 frafdenerr 3 qer sreamael of sz 1600 3 wrvfl 3 831 o1 sifwst @ smems u? ol 1-5 o d IR < .

31eMuehl oI faeRIar d@cot ©

13% 1:7
18% 5:3
12% 1:3
21% 3:4
14% 9:5
22% 7:9

fRrerer preamuest 1 yfeteraar (% )piearaw sitz e St gl
A
B
C
D
E
F

What is the difference between the number of female teachers in Subject-F and the number of male teachers in Subject-
c?

farerr-F 31 sreanftrastaii &bt Jzen siiz faerr-C 3 srezmuast &b Fizen & &k fébden siaz 8 ?
[Question ID = 3628][Question Description = S2_qSNz_PG_GP4_Q03]
1. 156

[Option ID = 14509]
2. 160

[Option ID = 14510]
3. 150



[Option ID = 14511]
4. 153

[Option ID = 14512]

4)

The given table presents the percentage distribution of teachers and ratio of male to female teachers working in a
university in six different subjects (A-F). There is a total number of 1600 teachers in the University. Based on the data in
the table, answer the questions that follow

Subject-wise Distribution of Teachers

Subjects Percentage (%) of TeachersRatio of Male to Female Teachers|
A 13% 1:7
B 18% 5:3
C 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

aroft d fSu 510 sifdst @ smeR uz gesll @ 3a= difsme @

forrarferRaa rufl et feraferenert 3 srcmer - 3remT foreril 3 (T-uw) BRIz srearu®! @1 gferord dcel 3R [eATUD] qell 3eATfdIsii & ourd
@l yFgd ol 3 feeafdencrn 3 @t sreamaml &f e 1600 3 Arvil 3 R oR) Sifos! @ R R Yool 1-5 b D IR S &

31EATUD] DI fARIaR dear :

frerr sreemuast Bt gferoredr (%)sreamud 3iiz sreAftrapaii bl yferoraar
A 13% 1:7
B 18% 5:3
c 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

What is the total number of male teachers in the University?

ferafdencrr 9 sreamuml i aer e f[odofi 3 ?
[Question ID = 3629][Question Description = S2_qSNz_PG_GP4_Q04]
1. 696

[Option ID = 14513]
2. 702

[Option ID = 14514]
3. 712

[Option ID = 14515]
4. 668

[Option ID = 14516]

5)

The given table presents the percentage distribution of teachers and ratio of male to female teachers working in a
university in six different subjects (A-F). There is a total number of 1600 teachers in the University. Based on the data in
the table, answer the questions that follow

Subject-wise Distribution of Teachers




Subjects |Percentage (%) of TeachersRatio of Male to Female Teachers
A 13% 1:7
B 18% 5:3
C 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

Arvil 3 fSu o1 sifds] B smemrR uz Yosll & Iar SifSe ¢

forrarferRaa arofl et fraferenert 3 srererT - srerT foreril 3 (U-uw) BRI srearu! @1 gferord dcel 3R sreATud] eI sieATfireIaii & sourd
@l yFgd ol 3 [rafdencrn 3 et sreamaml & e 1600 3 ARvil 3 R oR) sifos! @ R R Yool 1-5 a D ImR S &

31EATUD] DI fARIAR dcal :

frerr sreemuast Bt gferoradr (%)sreamads il srenftap1aii dl yferoraar
A 13% 1:7
B 18% 5:3
c 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

Which is the ratio of the number of female teachers in Subject-E to the number of male teachers in Subject-D?

farerRr-E 31 sreamftreptaii ol Jizea @ gferora ot siopurd farerr-D 3 sremapi bt Jisen o1 fopdet 8 ?
[Question ID = 3630][Question Description = S2_qSNz_PG_GP4_Q05]
1. 5:9

[Option ID = 14517]
2.2:9

[Option ID = 14518]
3. 3:7

[Option ID = 14519]
4.5:3

[Option ID = 14520]

Topic:- GP_20NOV_B_SH2

1) The variability or flexibility of delivery during the presentation of a lesson by a teacher is called as

U IERATUD HRI UIS D Yl & Sikiel Ydfer & ufaderofierar sterar siarar ot fp21 Hu 3 Siren sirar 3 ?

[Question ID = 3631][Question Description = S2_qSNz_PG_GP4_Q06]
1. Thinking curriculum/Rider urgeiags [Option ID = 14521]

2. Instructional variety/sifdfers fafderar [Option ID = 14522]

3. Comprehension/zmmst [Option ID = 14523]

4. Procedural knowledge/yfegercaies st [Option ID = 14524]

2) Ministry of Education, Government of India's, SWAYAM platform for offering MOOCs has how many quadrants for
designing courses?

$IRC IRDR D IS FIeR—I FRI Aarferd B3ML3iL L. (MOOCs) ygral @20l 3q ¥azi (SWAYAM) s @ @i @I dollol (3sisfoier) o fere
foraror aqeis 3 ?

[Question ID = 3632][Question Description = S2_qSNz_PG_GP4_Q07]



. 2 Quadrants/2 agefe [Option ID = 14525]
. 4 Quadrants/4 agef® [Option ID = 14526]
. 6 Quadrants/6 agefe [Option ID = 14527]
. 8 Quadrants/8 agef® [Option ID = 14528]

A W N -

3) Given below are two statements
Statement I: All components of working memory are in place by the age of 4 in a child as a development stage

Statement II: If a child does not continue to pay attention to information, the activation level weakens and finally drops so
low that the information cannot be reactivated and it disappears altogether

In light of the above statements, choose the most appropriate answer from the options given below

il St werel fdu e 3 ¢
@Yol - | : fpra &l saren & U A 4 ad &l 33 D arae 3 Repnefiar Fafer & w3ft acd el Ferrer R 8l 3

@l - || : Faonsii & yfer Al v arcie cPIAR €16l o1dl Sdl, dl ICYRVI IR BHSIR BIdT & 3R 3fod 3 sdoll BR sirar 3 fob Jaen @1 yor:
3egfea ot Rean st Aar iz @1s yuizu A e 2t sirar 3

JURITS Beroll B 3MIeild 3, ofil fGu s1u faaseul 3 A A8l A= ®1 wRIol HifStw &
[Question ID = 3633][Question Description = S2_qSNz_PG_GP4_Q08]

Both Statement | and Statement Il are correct/eret | 3iiz || Sloil 3t & [Option ID = 14529]

Both Statement | and Statement Il are incorrect/a@erwer | iR 1l GXali sieta & [Option ID = 14530]

Statement | is correct but Statement Il is incorrect/ermet | 3t 8, fpoq et |l sicta & [Option ID = 14531]
Statement | is incorrect but Statement Il is correct/@emt | swe &, fepoq e |l 3@t & [Option ID = 14532]

A W N -

4) Match List | with List Il

Neural system of BrainType of Memory

A. Conscious I. Implicit Memory
B. Unconscious Il. Procedural Memory|
C. Motor skills Ill. Explicit Memory

D. Own experiences |[IV. Episodic Memory
Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hife

et - el -1l
(3if¥rs 1 ot Feieht ciey) (Fgfe gor)

A. aActet I. siafoifdea Fgfer
B. sreot 1. orifaftre Fgfer
C. Oofir wlorer (die: Raver) Il. Joaep Fafer
D. scomopra IV. i Fafr

il fou s1e fraseul 3 ¥ A IR gforw ¢
[Question ID = 3634][Question Description = S2_qSNz_PG_GP4_Q09]

A-1V,B-1ll, C-1,D - Il [Option ID = 14533]
A-1lIl,B-1,C-1l,D-IV[Option ID = 14534]
A-1,B-1l,C-1V,D-Ill [Option ID = 14535]
A-11,B-1V,C-IllIl, D-1[Option ID = 14536]

A W N -

5) Cognitive domain for behavioural objectives comprises which of these objectives?
A. Evaluation

B. Valuing

C. Comprehension

D. Precision

E. Knowledge

Choose the correct answer from the options given below:



RIABRAIS 359301 @ I HAsTrelcards & I sof 329%l @I Aemfase fpa St 3 :

A. Feaidel

B. Jca forerizur weon

C. aa=n

D. =remefar

E. smor

sifa feu o1 fameul & 3 A&l IR ol ©

[Question ID = 3635][Question Description = S2_qSNz_PG_GP4_Q10]
1. A, Band Conly/@aa A, B, C

[Option ID = 14537]
2. B, Cand D only/@aa B, C, D

[Option ID = 14538]
3. A,Cand Eonly/aac A, C, E

[Option ID = 14539]
4, C,DandEonly/@aa C, D, E

[Option ID = 14540]

6) During research when we avoid speculative and metaphysical approaches and instead concentrate on studying
observable facts, it is called:

ofter @ SiIel Sd &3 HARIICHD 3R difeam efScdlvil A qad & iR YgofRr aeil uz earer dfoga @ & dl s forgoifciRaa 3 A o= a1 sirar 8

[Question ID = 3636][Question Description = S2_qSNz_PG_GP4_Q11]
1. Feminism/emlars [Option ID = 14541]

2. Ethnomethodology/ssuferfdrsret [Option ID = 14542]

3. Constructionism/3izdeicaaar [Option ID = 14543]

4. Positivism/forzricaasar [Option ID = 14544]

7) In research, the combination of different methods, study groups, local and temporal settings, and different theoretical
perspectives in dealing with a phenomenon is called:

Rp2ft uf¥acen & Jder 3 BRI B wR ol 3 Riftioa USRI, sr¢RIer ARl FereiiR Siik Rl fRcRIRIl & JHRilsiel B! wad 3 :
[Question ID = 3637][Question Description = S2_qSNz_PG_GP4_Q12]
1. Triangulation/fegystor [Option ID = 14545]
2. Content analysis/fwer 2mesf fasdwor [Option ID = 14546]
3. Corpus/@ma [Option ID = 14547]
4. Mediation/aeerar [Option ID = 14548]
8) Identify the CORRECT sequence of steps for the centroid method of factor analysis
A. Work out the sum of coefficients in each column of the correlation matrix
B. Compute a matrix of correlation
C. Obtain the Sum (T) of columns

D. Divide the sum of each column by the square root of (T)

Choose the correct answer from the options given below

BHace? ferauur &l dogp UGl D fo1e wcdl @ A8l &I usare @3 :
A. s34 dARTA D Y@ PIctd I Il PI APTHe forapret



B. ssaider @ dif¢at &l svren w3

C. orctdl @1

Aerwe (T) g o3

D. gA® @Icia @ Alerwd @I (T) @ aoiger A fafsra o3

il feu aru el 3 2 A8 Ia= goi ¢

[Question ID = 3638][Question Description = S2_qSNz_PG_GP4_Q13]

A C, D, B[
C,B,A DI
. B,ACDJ

B,C,A DI

A w N =

Option ID = 14549]
Option ID = 14550]
Option ID = 14551]
Option ID = 14552]

9) Match List | with List Il for scale construction techniques

List | List Il
A. A . .
Arbitra I. Number of individual items are developed into

4 a test which is given to a group of respondents
approach
B.
Consensus |[Il. Scale is developed on an ad-hoc basis
approach
C. Item lll. Chosen on the basis of their conforming to
lAnalysis  [some ranking of items with ascending and
approach |descending discriminating power
D. . [IV. Panel of Judges evaluate the items chosen
Cumulative, . L .

for inclusion in the instrument

scales
Choose the correct answer from the options given below:

et -1 B e -1l A g i

et -| et -l

A. aeRe® ||, 3rceI-31emT It B FeAr Bl v urs 3 ol o sirar 3

eftcapior Y StReransit a5 s @1 = Siar 3

B Il. acef smenz uz darel o A Ra fsar siar 3

C. 3 faeasuvur ||ll. R 3R RIS RicmRl o1ftp Afda o 6t &I Yuiiaur
eftcmIur (DI 3GIHUAT D MR UR TRIfoled

D. iRt IV. ferzaa 3@ onfdrer dol D fere gofl 31 AT DI HeAicdol DI dD
SaroIT fere fororirapt @1 Uoter

il f3u o1e fyseul 3 A A IR gfom :

[Question ID = 3639][Question Description = S2_qSNz_PG_GP4_Q14]

1. A-1l,B-1

[Option ID

LC-1,D-1IV
= 14553]

2. A-Il,B-IV,C-1,D-1l

[Option ID
3. A-1,B-1l

[Option ID
4. A-1V,B-1

[Option ID

= 14554]
,C-1,D-1V

= 14555]
,C-1,D-1l

= 14556]

10) Given below are two statements




Statement I: The base of the binary number system is 2.
Statement II: Binary addition is just like decimal addition except that the rules are much simpler.

In light of the above statements, choose the correct answer from the options given below

il St werel fRu e 3 ¢

werd - | fgamendt Fizsan yorredt o1 smemR 2 3

werel - |l : fgamendt eI, gowicrd Siis @ AT 8l 3lar 3 Brary sad s formr orbl a1ea &
SURITP DYoll B 3Tl 3, ofll fSu 31u fameul 3 A A8l 3= @I a6l HiIfSTE ©

[Question ID = 3640][Question Description = S2_qSNz_PG_GP4_Q15]

Both Statement | and Statement Il are true/erer | 3 |1 Sloil 3ir 8 [Option ID = 14557]

Both Statement | and Statement Il are false/@emr | 3iiz || Si6ll sRicr & [Option ID = 14558]
Statement | is true but Statement Il is false/@erer | 31 @, fpoq @eret |l sRir & [Option ID = 14559]
Statement | is false but Statement Il is true/wmem | srRicr 8 , fbog @ere || A= & [Option ID = 14560]

A w N =

11) More and more informal exchanges within a group to resolve conflicts is an example of

TpAd] DI AALETol Dol B fe1e b AgPs D Hiar 3iferd A 31fr® seluniya GIel-Yglel 36181 & -
[Question ID = 3641][Question Description = S2_qSNz_PG_GP4_Q16]

. Vertical communication/3eaferz 3iwor @1 [Option ID = 14561]

. Horizontal communication/ it 2iquur @t [Option ID = 14562]
. Risk communication/sitf3aer 2iquur a1 [Option ID = 14563]

. Personal communication/dfepe 2iuur a1 [Option ID = 14564]

A w N =

12) Which of the following are identified as verbal communication skills?
A. Use of aggressive language

B. Assertiveness

C. Opening feedback channels

D. Taking credit for oneself

E. Use of affirmative words

Choose the correct answer from the options given below:

forgaifeiRaa 3 A bl usarer aifiies IAYWUT Bigad & Hu 3 bi St 8

A. MM@EI® T BT YABT

B. smepfdar

C. bisd® @ deidl &I graeiel

D. =i ot 9 Jomr

E. FdioRica® 91l @1 GRIBT

offa fou s1u fyeseul 3 21 & 3a= goi ¢

[Question ID = 3642][Question Description = S2_qSNz_PG_GP4_Q17]

. A, Band C only/dact A, B siiz C [Option ID = 14565]
. B, Cand D only/dae B, C iz D [Option ID = 14566]
. C, Dand E only/asaet C, D siiz E [Option ID = 14567]
. B, Cand E only/d@aa B, C iz E [Option ID = 14568]

A W N -

13) Given below are two statements
Statement I: Body language is the basis of deceptive communication.

Statement II: Non-verbal cues have their own shared meanings.



In light of the above statements, choose the correct answer from the options given below

il Q1 perel i s 3 :

@l - | : ADIRITD YT, YD YT BT MTENR BXedl &

weral - || : Sir-aiftres dAdddl o1 3rdott ArsH 3ief grar &

SWRID DUl D 3Iclid 3, ikl [Gu are fdwmedl 3 A A8 IR DI TRIel DI :

[Question ID = 3643][Question Description = S2_qSNz_PG_GP4_Q18]

1. Both Statement | and Statement Il are true/@emw | aiiz || Sleil s 8 [Option ID = 14569]

2. Both Statement | and Statement Il are false/a@erwet | 8ii2 1l Gleil sRicr & [Option ID = 14570]

3. Statement | is true but Statement Il is false/@emwr | 31 &, fdpoq weret || spicr @ [Option ID = 14571]
4. Statement | is false but Statement |l is true/emol | 3RIcI 8 , fboq e |l 3 & [Option ID = 14572]
14) ldentify the CORRECT sequence of categories of grapevine communication

A. Cluster chain

B. Probability chain

C. Gossip chain

D. Single strand chain

Choose the correct answer from the options given below

Slelgdrc AYwoT &I YR B W8t oo &b usars @3 .

A. wigg o

B. dstrerar gjaen

C. sru9mu 9jzaen

D. wwe ¥gis ojzac

il fou s1e fraseul 9 2 & 3a= goi ¢

[Question ID = 3644][Question Description = S2_qSNz_PG_GP4_Q19]

B, C, D [Option ID = 14573]
C, D, A [Option ID = 14574]
, C, B, A [Option ID = 14575]
D, A, B [Option ID = 14576]

A W N -

’

15) Match List | with List Il

List | List Il

Categories of communication Features

A. Lateral I. Touch communication

B. Haptics Il. Between equals

C. Semantics lll. Interpretation of signs

D. Semiotics IV. Concerned with meanings|

Choose the correct answer from the options given below:

el -1 @1 3 -1l A Fgafera Hifsre ¢

Rreht -1 il

(FrqeroT 9)fdriT) (faroreramd)

A. aiffds |. iguor Fuof

B. >uef farsimer Il. Jerpeil & dia gyt
C. stz 11, sidddl &t R

D. zidfers IV. sreif A dAdfera

il fou a1 fseul 3 A A IR gfom ©
[Question ID = 3645][Question Description = S2_qSNz_PG_GP4_Q20]



-1, B-1,C-1V, D -Ill [Option ID = 14577]
-1, B-1l,C-1,D-IV[Option ID = 14578]
-1V, B-1ll, C-1l, D -I[Option ID = 14579]
-1, B-1v, C-1ll, D -1l [Option ID = 14580]

HwN s
> > > >

16) What comes next in the following sequence?

8,6,4.5, 3.5, ___

8, 6, 4.5, 3.5 @ srgJaye I 3IEIC Blol-AT 3D 3o ?

[Question ID = 3646][Question Description = S2_qSNz_PG_GP4_Q21]
1/1 [Option ID = 14581]

2/2 [Option ID = 14582]

2.5/2.5 [Option ID = 14583]

3/3 [Option ID = 14584]

A WwWN =

17) X has one and a quarter times as many as Y, and Z has one and a quarter times as many as X. Altogether, they have 61.
How many do Z, Y and X have, respectively?

X & ura Y o1 Jd1 3ol 3 3R Z & urd X &l Aa1 3ol & A Wsft & ury afl¥afera su A 618 Z, Y 3l X & ura qaaer: foedar 3 ?

[Question ID = 3647][Question Description = S2_qSNz_PG_GP4_Q22]

1. 25, 16, 20/25, 16, 20 [Option ID = 14585]
2. 20, 16, 12/20, 16, 12 [Option ID = 14586]
3. 25, 20, 16/25, 20, 16 [Option ID = 14587]
4. 16, 20, 25/16, 20, 25 [Option ID = 14588]

18) Showing the man in a photo, Kavita said, "He is the brother of my uncle's daughter”.

How is the man realted to Kavita?

U BIcl 3 U Aftb ol G gu ofddr of @al, 96 3 I &I d¢l @I H1E 3 3A AP A DIdAr I o= f¥ear 3 ?

[Question ID = 3648][Question Description = S2_qSNz_PG_GP4_Q23]
Nephew/sidftsm [Option ID = 14589]

Cousin/adRr a1 (dfSter) [Option ID = 14590]

Uncle/arar [Option ID = 14591]

Son/yqg [Option ID = 14592]

A W N -

19) Given below are two statements
Statement I: In one minute, the minute hand of a clock gains 5° over the hour hand.

Statement Il If both the minute and hour hands start moving together from the same position, both the hands will coincide
after 64 minutes.

In light of the above statements, choose the correct answer from the options given below

il St werel 3w are 3 ¢

@l - | : o et 3 il Slar ast &l fiere & g€, @ B I A 5° 316l g oIl 3

et - |l : af Brore siiz @e & Fgsat vo 3 Rrerfer 3 311 agolr 9 @il & al Slell Azl 64 Bioic @G uw, g A fickl
SRS DYoll B 3Tl 3, ol fSu 31u fameul 3 A W8l 3= @1 a6t HifSte ©

[Question ID = 3649][Question Description = S2_qSNz_PG_GP4_Q24]

1. Both Statement | and Statement Il are true/@emw | aiiz || Sleil A & [Option ID = 14593]

2. Both Statement | and Statement Il are false/@erwt | 8ii2 |l Gleil sRicr & [Option ID = 14594]

3. Statement | is true but Statement Il is false/@emwr | 31 &, fdpoq weret || sRicr @ [Option ID = 14595]
4. Statement | is false but Statement Il is true/aeret | 3Ric 8, fdbog @eret |l 2t 2 [Option ID = 14596]



20) Consider the following statements:
A, A single discount equivalent to three successive discounts of 10%, 20% and 25% is 46%
B. A mobile is sold for 14500 at a loss of 20%. The cost price of the mobile is T18225.

C. If the loss is % of the selling price, the loss percentage is 28%

Choose the correct answer fram the options given below:

frafefad siftmya | faar &1

A TH SR T G178 46% B e, 1 aR T ¢l 718 10%, 20% 3R 25% el b aRIeR o

B. U TIASd @ 20% @1 811 U 14500 ¥ H &1 911 &, Hialgd & aFld o9 182253 8
D. 3l g, o e @ 12 e 28% ©

el feu e fasea! # € w8l IR 94 :

[Question ID = 3650][Question Description = S2_qSNz_PG_GP4_Q25]
1. Aand B only/dact A siiz B [Option ID = 14597]

2. Band C only/aac B siiz C [Option ID = 14598]

3. Aand C only/daer A siiz C [Option ID = 14599]

4. Aonly/aae A [Option ID = 14600]

21) In the context of uses of language, which of the following is the fallacy that pertains to the relationship between a
person's beliefs and his circumstances?

forgsiferRae 31 3 PBlel-AT a® I 3 il AP @ Rreardl sk uffFaferil @ & ider ol b a3

[Question ID = 3651][Question Description = S2_qSNz_PG_GP4_Q26]

1. Argumentum and Baculum (force)/3mefdica us dqgeta (9ifep) [Option ID = 14601]

2. Argumentum ad Hominem (circumstantial)/smsfdicat Us difdown (a¥fRerferse) [Option ID = 14602]
3. Argumentum ad lgnorantiam (ignorance)/simjdica Us seoiifcet (s=ieldr) [Option ID = 14603]

4. Argumentum ad Verecundiam (authority)/smejiics esdigfSa (gifiier) [Option ID = 14604]

22) If 'Some members are not voters' is false in a square of the opposition of proposition, which of the following code can
be correctly picked

A. 'All members are voters' is false
B. 'Some members are voters' is true
C. 'All members are voters' is true
D. 'No members are voters' is true

Choose the correct answer from the options given below:

aa® arasil o feRiel aof i afe "o AT Adciar oidl & sric 8, dl forgorferfaa 3 A foba1 @ 1 A8t Aol ST ADT &
A. "aoft T AacKr 3 3RIca @

B. "®® Acx A &' AcA &

C. "l Aga AqeK &' AeA &

D. "®r¥ AT A o181 T AcA &

il fou s1e fraseul 9 21 & 3a= goi ¢

[Question ID = 3652][Question Description = S2_qSNz_PG_GP4_Q27]



. Aand D only/@aet A siiz D [Option ID = 14605]
. A and B only/@act A 3iiz B [Option ID = 14606]

. Band C only/@aet B siiz C [Option ID = 14607]
. Cand D only/aae C siiz D [Option ID = 14608]

A W N -

23) Which of the following codes correctly represents the figure and mood of the argument?
All businessmen are self-confident

No self-confident men are religious

Therefore, No religious men are businessmen

Choose the correct answer from the options given below

foraiferRaa wler-A1 ¢ ABaIdRI @ PR AR YBR Bl Al BU A YIdd okl 3 :
Meft camardt sircar-farardt 8 3

stieA-faara M3a @IE ol caftp enfdfa o1&l Siar

safere @1$ st enfdfo cafep carardt s1ét glar

[Question ID = 3653][Question Description = S2_qSNz_PG_GP4_Q28]
1. AEE -1

[Option ID = 14609]
2. AEE -1l

[Option ID = 14610]
3. AEE - Il

[Option ID = 14611]
4. AEE - IV

[Option ID = 14612]

24) The knowing self knows objects through the instrumentality of the sense organs (Indriyas) but the existence of Indriya
is proved by

Sire sfogal & AsrIar A ucrelf @ a1 3 SIGIPRI Yid @l & sfogl @I ii¥dca gafvra o sitar & fordot 31 A fpad GRr &

[Question ID = 3654][Question Description = S2_qSNz_PG_GP4_Q29]
Anumana Pramana/ sigpgtiet yeivr gri [Option ID = 14613]

Sabda pramana/ere ygmor grer [Option ID = 14614]

Arthapatti Pramana/srerfufer grr [Option ID = 14615]

Upamana Pramana/3usirer ggmvr gt [Option ID = 14616]

A W N -

25) Which form of knowledge is NOT derived through the instrumentality of other knowledge?

Silol @ b Fa>U Dl 30T Silol Bl AGRIAT A YIH oId) b Sirer 3

[Question ID = 3655][Question Description = S2_qSNz_PG_GP4_Q30]
1. Perception/gersr [Option ID = 14617]

2. Inference/smopiet [Option ID = 14618]

3. Word-testimony/ers ggmor [Option ID = 14619]

4. Comparison/3usre [Option ID = 14620]

26) In respect of computer software, features of a typical operating system include:

A. The interface-allowing communication between the user and the computer

B. Memory management-allocating internal memory (RAM) to programs and data in use and retrieving and storing data on
the external memory devices

C. Resource handling-controlling peripheral devices (input and output devices) and handling user requests for peripheral



devices
D. Internet access-providing connectivity to the services on the Internet

Choose the correct answer from the options given below:

PRI Afwedsr @ Hder 3 fpfl yfaforfere smufdst Rieear & fadruarsii 3 foaiferRaa onfirer s 3
A. & $c3Bd - YRIPT a BRI D dla AYHT 6 srepFfer Sar 3

B. 3631 yderet - GRIIeI 3l 3@ Yoyl 3R sl @ fore sndaf¥as AT (3112 U ©a) oI 3irdcdd 3R JIeT AT SArsR UR 3idbs] o Yol gafit
q $iSRUT

C. 1801 FHHIcTol - UfeliRI SarsAl (solyc g 3M3cyc 3arsA) @l orifdd el a ufEdin Sarsl @ foe YRIpT oIl PI JAHICTol
D. seolc uga - $evole UR Aqnsil d R AUD Yglal Boll

o Re a1e Riescdl 3 A & a2 9ol ©

[Question ID = 3656][Question Description = S2_qSNz_PG_GP4_Q31]

A, C and D only/daer A, C 3iiz D [Option ID = 14621]
B, C and D only/a@aa B, C siiz D [Option ID = 14622]
A, B and C only/d@aet A, B siiz C [Option ID = 14623]
A, B and D only/@aet A, B 3iiz D [Option ID = 14624]

AW N =

27) Match List | with List Il

List | List 1l

(Description) (Appropriate Technical Term)

A. Authoring language used to create
documents to be viewed on the World |Il. Browser
Wide Web

B. Computer that responds to requests
to provide information and services Il. HTTP
over the Internet

C. Defines how messages are
transmitted and formatted over the I1l. HTML
Internet

D. Software that enables users to
access/view documents and other IV. Internet server
resources on the Internet

Choose the correct answer from the options given below:

it -l oot 3 -1l A Fgafera HifSie :

e -| -l

( ) (SURIED Aol ug)
A. Staydic Sellel @ fere cisdsl ool BRI acs arss |

dd Uz 31 SIY '

B. $evote uz Jeond vd A 3 S Rore v AT A || 00

(@I TR ol It BRI

C. Sevdte we e vd BRic A I B | o
D‘_Qmmsﬁqzhaaﬁﬂaﬂmmgﬁ?@? IV. sczore s

aiIT gAY FATEGH D YaAA/S ol D AP Tollal 3

off< feu oru fpedl 3 A 38l 3R gfore :

[Question ID = 3657][Question Description = S2_qSNz_PG_GP4_Q32]



1. A-1I,B-1V,C-1,D-1l

[Option ID = 14625]
2. A-1,B-1IV,C-1l,D-1ll

[Option ID = 14626]
3. A-IV,B-1I,C-1,D-1l

[Option ID = 14627]
4. A-11,B-1V,C-1I,D-I

[Option ID = 14628]

28) Arrange the following optical storage devices in decreasing order of their storage capacity
A. DVD

B. CD-ROM

C. Blu-Ray

Choose the correct answer from the options given below

ARSI DURIE & aed o 3 fordtifdpa FRe Fasi=t @1 caf¥ea &ifsre:

A. Sid@rd

B. i3 - dar

C.s3

offa fou s1u fyepeul 3 21 & 3a= goi ¢

[Question ID = 3658][Question Description = S2_qSNz_PG_GP4_Q33]

. C, B, A [Option ID = 14629]
. C, A, B [Option ID = 14630]
. B, C, A [Option ID = 14631]
. A, C, B [Option ID = 14632]

A W N -

29) Given below are two statements
Statement I: An operating system controls peripherals, and allocates memory and processor time.
Statement II: An operating system provides Internet access.

In light of the above statements, choose the correct answer from the options given below

ofi &1 perer Ru sme 3 :

Do - | : v sifaRfest Rivcar Ufidacat ol orifoqa @wdar 3, 31z IR 3l YRR AIRI BI HI4co] Bl &
@l - |l : v simfesr Rizcar $edic VaiA Yglol @ &

JURITP Bl B 3MIelid 3, ofll f&u s1u farseul 3 A JEl 3= B1 ol Hifte &

[Question ID = 3659][Question Description = S2_qSNz_PG_GP4_Q34]

Both Statement | and Statement Il are true/eret | 3z || Sloil 31 8 [Option ID = 14633]

Both Statement | and Statement Il are false/@emwr | 3iiz |1 Gloil 3Rt & [Option ID = 14634]
Statement | is true but Statement Il is false/@erme1 | A 8 , fboq @eret |l sRir & [Option ID = 14635]
Statement | is false but Statement Il is true/wmemr | sRicr 8 , fboq et || = & [Option ID = 14636]

A W N -

30) Which of the following is the appropriate GUI (Graphical User Interface) component used to select one from multiple

alternatives?
forgatifepa 31 A Dol U i3S, (SJfbapet YR $cWA) T & Sl dg [adeul 3 A T DI Jolol A YT fop=n sirar 3

[Question ID = 3660][Question Description = S2_qSNz_PG_GP4_Q35]
Scroll bar/z@jet @ [Option ID = 14637]

Push button/ger seat [Option ID = 14638]

Progress bar/qgw@y1 arz [Option ID = 14639]

Radio button/3f3=i scar [Option ID = 14640]

AW N =



31) Which one among the following diseases is NOT caused due to exposure to ultra-violet radiation?

forgotferRac 3 A Dlol-AT A5T U JaTofl fAfdb201 Ygiraol @ BRI oIdt aXer 3 ?

[Question ID = 3661][Question Description = S2_qSNz_PG_GP4_Q36]
1. Bronchitis/earierett ofter [Option ID = 14641]

2. Melanoma/dctrsiten [Option ID = 14642]

3. Ocular damage/alq eifer [Option ID = 14643]

4. Erythema/camfepan [Option ID = 14644]

32) Match List | with List I

List | List Il

Class of water Example/Explanation

pollutants
A. Disease-causing I. Organic wastes decomposed by aerobic
agents bacteria

B. Oxygen depleting

Il. Acids, salts, compounds of toxic metals
wastes

C. Inorganic plant

. lll. Bacteria, protozoa, worms etc.
nutrients

D. Water-soluble IV. Water-soluble nitrates and phosphate cause
inorganic chemicals |excessive growth of algae etc

Choose the correct answer from the options given below:

et -l ot 3 -1l A Fgafera HifSie :

et -1 et -1l
STl YgHIel T aot Sc18vT / SAaRRIT
A. AoSIoID PRD |. argeidl Sflary gr1 fafea oo srafdrse

B b anet Il. 3T, craur, D emqgsil @ AR

srafdrse

?Cl.ﬁ:ﬁsﬁtbsméﬁimmm. —— [ e —

D. Ste1 3 gerorofier IV. Stet & gererofier omrsee 3R wivwe dare senfe
IepTelfored RIS bt arfer gy @ 3

oifa feu aru fasedl 3 A A8 3R gforu :

[Question ID = 3662][Question Description = S2_qSNz_PG_GP4_Q37]
1. A-1,B-IV,C-1l,D-1I

[Option ID = 14645]
2. A-1L,B-1I,C-1,D-1V

[Option ID = 14646]
3. A-NLB-1,C-1V,D-1l

[Option ID = 14647]
4. A-IV,B-1I,C-1I,D-I

[Option ID = 14648]

33) Given below are two statements
Statement I: Nitrification results in an increase in effluent ammonia toxicity
Statement Il: Denitrification reduces nitrate to nitrogen gas using bacteria

In light of the above statements, choose the most appropriate answer from the options given below



ofi &1 derer Ru sre 3 :

@l - | : afd:3a &bt spiforn farpar # gfy snsdiaur o1 ufyvma 3

@l - || : fRronsdiavr 3 Siary oI YeT @2 olisee Bl slisglsiol 311 3 JUal[ @ &
SURITP DYoll B 3Tl 3, ofll fSu 31w fadmedl 3 A W8l 3= DI a6l HiIfSTE ©
[Question ID = 3663][Question Description = S2_qSNz_PG_GP4_Q38]

Both Statement | and Statement Il are correct/aerm | 3iiz |l gleif 3t 8 [Option ID = 14649]

Both Statement | and Statement Il are incorrect/@eror | iz 1l GYali sieia & [Option ID = 14650]

Statement | is correct but Statement Il is incorrect/emwr | 3t 8, fpoq weret |l sieta & [Option ID = 14651]
Statement | is incorrect but Statement Il is correct/@emw | sca @ , fpoq et |l 2@t 8 [Option ID = 14652]

A w N =

34) Flotation is a unit operation, used in wastewater treatment to
A. Remove the lighter suspended solids

B. Concentrate biological sludge

C. Remove oil and grease

D. Remove the temporary hardness of the water

Choose the correct answer from the options given below:

wIdel Uh TS fopRn & fSrRIapT Suriler srufdree Siet A @RI 9Ly ol 3 fpa S 3:
A. sftfa forcifa d11 ucrelt @t aerol

B. g Sifadi sne Hlas & fere

C. aa 3z 3ff (3fis1) B serar 3

D. Sict @ 3Ferfl wokRdar @t serol d

il fou o1 freseul 3 31 & Fa= goi ¢

[Question ID = 3664][Question Description = S2_qSNz_PG_GP4_Q39]

A, B and C only/@aet A, B aiiz C [Option ID = 14653]
B, C and D only/dact B, C siiz D [Option ID = 14654]
A, B and D only/d@act A, B 3iiz D [Option ID = 14655]
A, B, Cand D/A, B, C siiz D [Option ID = 14656]

A W N -

35) Match List | with List I

List | List Il
Ozone depleting substanceName

A. C3HF7 I. HCFC
B. C2FH;Cl, Il. Halons
C. C2F4Cl; Ill. HFC
D. CF3Br IV. CFC

Choose the correct answer from the options given below:

et -1 B e -1l A g Hife

et -1 il
Bilsilor erf¥a ucref Dir:|

A. C3HF7 I. HCFC
B. C2FH;3Cl; Il. 3clica
C. CoF 4Cl3 lll. HFC
D. CF3Br IV. CFC

oif<l fSu aru famedl 3 A A8 3R gfore :
[Question ID = 3665][Question Description = S2_qSNz_PG_GP4_Q40]

1. A-1,B-1ll,C-1l, D- IV [Option ID = 14657]
2. A-1Il,B-1,C-1V,D- Il [Option ID = 14658]



3. A-Il,B-1IV,C-1ll, D-I[Option ID = 14659]
4. A-IV,B-1Il,C-1,D-1ll [Option ID = 14660]

36) The country which has the highest number of higher education institutions is:

g S9I Slel Uz I e Fvernoil &t Jatferes Jen 3 :

[Question ID = 3666][Question Description = S2_qSNz_PG_GP4_Q41]
India/ema [Option ID = 14661]

China/let [Option ID = 14662]

USA/geate. [Option ID = 14663]

Russia/¥a1 [Option ID = 14664]

AW N =

37) Arrange the following in chronological order of their occurrence
A. Hartog Commission

B. Sadler Commission

C. Macaulay's Minutes

D. Sargent plan

E. Wood's Despatch

Choose the correct answer from the options given below

forgstferRaa Y SoId> 3106l A BITGATGRIR Aaf¥ed Hifsre

A. BIcfer 3IRIBT

B. JscR mAe1

C. Frar rlga (Rrorcar)

D. arSic iston  (cetror)

E. gs B¥a

ofid o a1 el 3 A 8t S gl ¢

[Question ID = 3667][Question Description = S2_qSNz_PG_GP4_Q42]

B, D [Option ID = 14665]
A, D [Option ID = 14666]
, D, A [Option ID = 14667]
A, D [Option ID = 14668]

bl ol ol
ﬁ‘(\(‘lﬁ
wmmm

38) Which of the following are NOT statutory bodies?
A. NAAC

B. NMC

C. NCERT

D. AICTE

E. NCTE

Choose the correct answer from the options given below:

forgaiferRaa 31 21 Plat A Aifaftre foror 3 :
A. NAAC

B. NMC

C. NCERT

D. AICTE

E. NCTE



il féu a1e fraseul 9 3 W& 3= goi ¢
[Question ID = 3668][Question Description = S2_qSNz_PG_GP4_Q43]

A and B only/d>qet A siiz B [Option ID = 14669]
C and D only/@aet C sfiz D [Option ID = 14670]
A and C only/d@act A siiz C [Option ID = 14671]
D and E only/asaet D siiz E [Option ID = 14672]

A wWw N -

39) UGC is established for:

A. Promoting research and innovations in higher education in the country

B. Coordination, determination and maintenance of standards of university education

C. Increasing access to higher education in the country

D. Disbursing grants to the universities and colleges

E. Serving as a vital link between the Union and State governments and institutions of higher learning

Choose the correct answer from the options given below:

g St oAt bF Feraen fepa 3gea @ fere g5 3 ?

A. Tor 3 Ica Pren 3 soRiene 3R staygddeil ol aear Sl

B. farafdencril 131811 @ HreIpl ®I AdoarIal, forerizvur 3iiz Sxsimen

C. gor 3 ITa f318n a® uga oI Gl

D. freafdencril 3iiz Bidsil oY 3igicioll a1 faRuT w2l

E. 3= aur I IRPRI 3R 3<a 9181 ifeere H¥ersll @ dfa dAstaqul B3l @ B4 3 Adr Yglol d6ll
il fou s1u frapeul 3 A & IR BT a6l HIfSIE ©

[Question ID = 3669][Question Description = S2_qSNz_PG_GP4_Q44]

1. A, Cand E only/dsaet A, C siiz E [Option ID = 14673]
2. A, B and C only/dact A, B iz C [Option ID = 14674]
3. A, B, Cand D only/a@aet A, B, C 3iiz D [Option ID = 14675]
4. B, D and E only/dact B, D siiz E [Option ID = 14676]

40) Match List | with List Il

List | List Il

A. AICTE |l. Promotes research in Philosophy

B. ICHR |ll. Promotes research in History

C. ICPR |lll. Promotion of quality in Technical Education
D. ICSSR |IV. Promotes research in Social Sciences
Choose the correct answer from the options given below:

et -l oot 3 -1l A Fgafera Hifste :

xet -1 ot -l

A. AICTE |. coforom & 3rcIRieiel Bl dGTol

B. ICHR 1. sfererRa 3 sioRienst @l aGloll

C. ICPR I1l. aapotichl 9181 bl SJUTaTI DI SGIal Soll
D. ICSSR IV. srenfSie forsiell 3 siofRiens ® aGiell

ofla fou s1e frseul 3 ¥ A8 IR gforw ©
[Question ID = 3670][Question Description = S2_qSNz_PG_GP4_Q45]

A-11,B-1l,C-1,D-1V[Option ID = 14677]
A-11,B-1l,C-1V, D -1 [Option ID = 14678]
A-11,B-1ll,C-1,D- IV [Option ID = 14679]
A-1V,B-1l,C-Illl, D-1I[Option ID = 14680]

A W N -

Topic:- GP_20NOV_C_SH2



1) Read the given passage and answer the questions that follow

Social exclusion is a multi-dimensional concept conceived to capture different aspects of social disadvantage-economic,
social, political and cultural-that exist in multiple variations across nations. Stripped to its essence, the term focuses on the
groups excluded in economic, social and cultural terms as well as on the mechanisms that work to relegate them to the
status of social outsiders. Originating mainly in the writings of French sociologists, the concept is receiving growing scholarly
attention in Western Europe. The emergence of the term, in fact, reflects an attempt to reconceptualise the changing
nature of social disadvantage in post-industrial societies in the face of major technological change and economic
restructuring. The West, for example, has been experiencing an intensifying process of social integration that is occurring
because of long-term unemployment, increasing migration and the rolling back of the welfare state. Consequently, new
vulnerable social groups have been emerging and are labelled in different ways: 'the new industrial poor’, 'immigrants’,
'ethnic groups’, 'single parents’, among others. Interest in social exclusion has grown in relation to the growth of new social
problems in the west. Two important issues are worth considering here. First, does the concept add anything new which
cannot be provided by analysis within a more conventional framework of, say, poverty, inequality, deprivation and so on.
Second and more important, can this concept be extended beyond a European perspective to a development setting? Can it
be exported from the North to the South, from a situation where the majority are well-off to a situation where the majority
are poor? Clearly, a great deal of attention has been paid, in development analysis, to related issues such as poverty,
inequality, deprivation, entitlements and capabilities.

22 a10 srEror @Y ug iR offa 3w a1e yesll D 3R ¢ ¢

ARG afdvdR ud 93 - MmrRIE sraemvn 3 St Ayt Sor i fafaer wul 3 si¥awaaret snffe, A, Iscife i Arapie - APt
oIl & fafitoet uscysil I AAMate Dol DI RV T $AD Acd D o8 WA gU; AT 9Ieg, Iol APl Sil ffd, AMSID 3z ATl wu A
SfEtad AP UR &A1l DIGA DT 3 1R AT Fl A6 9166 ATHAIRID WU A d1831 clIvll DI Jorhl R-2fer A d182 formIctol I BRI w2l ard dd U
€110l DIGA DA 3 BiA D HATSl ARAI D ol A PR 31U Igd AS ARV Uil IR i 966 gu w4 d [ASTell DI &ar6l Yra @2 Wl & 53
9rec bl Ieufer, araa 3 FF= awolidl gcam 3R nffe gerRizae @ dacd 3R - MENBRD A J AHIRIP Bl D Joeld Fasu DI
Yol3IaeRuIl Gollol & U JRIRT Dl Yoldfa ol 3 3erseur & fere ufkir Amenfsres forausa & v gofleya BXcdl gfepzm o1 sigpsa @2 T 3 Sit
gAferg 31 81 3 ailfs dal cd HrRT Gt RASEIE, Gl MYARTH 3R BeAIBH AT A i seal &l siftfaferii urfl sir 36 2 Bazaeu oY
gaer ABISID APl DI 3gd 8l @1 & 3R d gl @ &k 3 fafdest wu 3 siel S1d 3; "ot siiEnfPre s¥le’, 'sigaril’, ‘ofsidl JA3s’, v
ifterae’ e 3 orRfl ATIID Fe=amsll @ gl @ Ader 3 A afdver 3 FRI 96 SRl 8 A8l oI Astayyl L Fcaare] iR & 3 g
TRAT ALV 3 GRIT 9Nf3ret SIar 3 il feauuT GRI si8idl, 3RIIeIdl, ddel SIS @ S 3Ife[d USURPIA BHAMm O dad ofdl Yglol fapam i
ADAT GIRI 312 f2rd AsTayyl, {6 a=IT 321 raemRun ®I FRIURT ulRyga A f[ort crazen (ifést) & sifafsm Rramfea oo s aden ? o= a6
IR Bl aE A cfdr Gt = S ADe, v VAl Rrerfer Rrmel agizsre oier eofl 3 3 v ¥l Refer Rrml agizsas et si¥lq @l ? Fuse U
A s8I, 3RTAToIAl, ddel adberl 3iiR graAarsil arcl Hdfea el urR PRI Rreauur # U U A &rel & sk @

The concept of social exclusion is multidimensional because of:

ARSI afdemR &I sraemvn b drRT A dgsmred 3 :

[Question ID = 3671][Question Description = S2_qSNz_PG_GP4_Q46]

multiple groups to focus on/fafeer 2wEEl w2 dfgea [Option ID = 14681]

variations in deprivations/ddmen @ ¥au di fierar [Option ID = 14682]

the prevalent notion about social outsiders/m@fSid *u 3 a3t clisll d AR # yafera saemrvn [Option ID = 14683]
social statuses across nations/=iguf Sor 3t Jmnfors Rerfer [Option ID = 14684]

AN w N -

2) Read the given passage and answer the questions that follow

Social exclusion is a multi-dimensional concept conceived to capture different aspects of social disadvantage-economic,
social, political and cultural-that exist in multiple variations across nations. Stripped to its essence, the term focuses on the
groups excluded in economic, social and cultural terms as well as on the mechanisms that work to relegate them to the
status of social outsiders. Originating mainly in the writings of French sociologists, the concept is receiving growing scholarly
attention in Western Europe. The emergence of the term, in fact, reflects an attempt to reconceptualise the changing
nature of social disadvantage in post-industrial societies in the face of major technological change and economic
restructuring. The West, for example, has been experiencing an intensifying process of social integration that is occurring
because of long-term unemployment, increasing migration and the rolling back of the welfare state. Consequently, new
vulnerable social groups have been emerging and are labelled in different ways: ‘the new industrial poor’, ‘immigrants’,
‘ethnic groups’, 'single parents’, among others. Interest in social exclusion has grown in relation to the growth of new social
problems in the west. Two important issues are worth considering here. First, does the concept add anything new which
cannot be provided by analysis within a more conventional framework of, say, poverty, inequality, deprivation and so on.
Second and more important, can this concept be extended beyond a European perspective to a development setting? Can it



be exported from the North to the South, from a situation where the majority are well-off to a situation where the majority
are poor? Clearly, a great deal of attention has been paid, in development analysis, to related issues such as poverty,
inequality, deprivation, entitlements and capabilities.

f22) a10 srEnor @Y ug iR offa 3w a1 yesil D 3R ¢ ¢

ARRTS afdvdR od 3 - MR sraemun 3 St Ay Sor i fafaer wul 3 siFawaaret snféfe, ammfSie, Ismcife i Al - apnie
ofdril & fafitoet uscysil I AAMMate Dol DI RV T $AD Acd D 18 WA g; AT 9Ieg, Iol APl Sil ffd, AMMSID 3z ATl wu A
SfEtad APl UR €A1l DIGA DT 8 1R AT Fl A5 9166 ATHIRID WU A d1831 clIvll DI Iorhl R-efer A d182 formIciol I BRI w2l ard dd U
€110l DIGA DA 3 BiA D HATSl ARAI D ol A PR 31U Igd AS ARV Uil IR i 966 gu w4 d [ASTell DI &ar6l Y @2 Wl & 53
9rec bl Ieufer, araa I FF= awolidhl gcam 3 nffe gerRizae @ dacd IR - MENBRD A J AHRIP Bl D Joeld FasU DI
Yol3IaeRuIl Sollol & U JRIRT Dl Yoidia ol 3 3erseur & fere ufkier Amenfsres foravsa & v gofleya BXcdl gfepznm o1 sigfsa @2 @I 3 Sit
sAferg 31 281 3 wilfs dal cd FrRT Gt RASEIE, Gl FYARTH 317 BeAIBH AT A i seal &l siftifaffril urfl sir @6 2 Bazanu oY
e ABIMSID APl DI 3gd 8l @1 & 3R d gl @ &k 3 fafdest wu 3 16l S1d 3; "ot siiEnfPre s¥le’, 'sgarRil’, ‘ofsirdl JA3s’, v
ifterae’ uf2aEr 3 orRfl AT Fe=amsll @ gl @ Ader 3 A afdver 3 FRI 96 SRl 8 A8l oI Astayyl L Fcaare] R & 3 gua
TRIT ARV 3 SRIT 9Nf3ret SIar 3 il feauuT GRI si8idl, 3RIIeIdl, ddel s @ S 32 USURPIA BHAMm B dad ofdl Yglol fapam i
ADAT GIRI 312 2D FsTayyl, o a=IT 321 sraemRun @I FRIURT ulRyga A Rt crazen (ifést) & sifafsm Rramfea oo s aden ? o= a6
IR Bl aE A cfdr Gt = S ADe, v VAl Rrefer Rrml agizse oier el 3 3 v ¥l Refer Rrml agizsaes et si¥lq al ? Fute U
3 s8Idl, 3RTAToIAl, ddel aberl 3R graAarsil arcl Hdfea el uR PRI fRreauur # U U A &rel & sk @

The new reflection on social exclusion has emerged from

AP Jf3ePR UR oid - Ridol wal 3 3cucol 311 3 ?

[Question ID = 3672][Question Description = S2_qSNz_PG_GP4_Q47]

The industrialisation process in Europe/3 3 siteisftas2ur yfegen [Option ID = 14685]

The arrival of new scholarship in sociology/mirsionq 3 o uifSer (Iprerfon) @t st [Option ID = 14686]
The technological impact on societies /3@l Uz ddoftdht gygma [Option ID = 14687]

The changes in the nature of social inclusion/menfSie w@MA9Me & ¥awu 3 deea [Option ID = 14688]

AN wN -

3) Read the given passage and answer the questions that follow

Social exclusion is a multi-dimensional concept conceived to capture different aspects of social disadvantage-economic,
social, political and cultural-that exist in multiple variations across nations. Stripped to its essence, the term focuses on the
groups excluded in economic, social and cultural terms as well as on the mechanisms that work to relegate them to the
status of social outsiders. Originating mainly in the writings of French sociologists, the concept is receiving growing scholarly
attention in Western Europe. The emergence of the term, in fact, reflects an attempt to reconceptualise the changing
nature of social disadvantage in post-industrial societies in the face of major technological change and economic
restructuring. The West, for example, has been experiencing an intensifying process of social integration that is occurring
because of long-term unemployment, increasing migration and the rolling back of the welfare state. Consequently, new
vulnerable social groups have been emerging and are labelled in different ways: ‘the new industrial poor’, ‘immigrants’,
‘ethnic groups’, 'single parents’, among others. Interest in social exclusion has grown in relation to the growth of new social
problems in the west. Two important issues are worth considering here. First, does the concept add anything new which
cannot be provided by analysis within a more conventional framework of, say, poverty, inequality, deprivation and so on.
Second and more important, can this concept be extended beyond a European perspective to a development setting? Can it
be exported from the North to the South, from a situation where the majority are well-off to a situation where the majority
are poor? Clearly, a great deal of attention has been paid, in development analysis, to related issues such as poverty,
inequality, deprivation, entitlements and capabilities.
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[Question ID = 3673][Question Description = S2_qSNz_PG_GP4_Q48]

The reconsideration of employment issue/3JIsPIR 38 w yoifdar [Option ID = 14689]

Strategies aimed at social integration/3mmfSie wdbiaur & aférd wehferif [Option ID = 14690]

. Fragmentation of welfare state/acmurmil s ot fazia [Option ID = 14691]

Social disintegration into new deprived groups/sia dferd gl # AEfei faravser [Option ID = 14692]
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4) Read the given passage and answer the questions that follow

Social exclusion is a multi-dimensional concept conceived to capture different aspects of social disadvantage-economic,
social, political and cultural-that exist in multiple variations across nations. Stripped to its essence, the term focuses on the
groups excluded in economic, social and cultural terms as well as on the mechanisms that work to relegate them to the
status of social outsiders. Originating mainly in the writings of French sociologists, the concept is receiving growing scholarly
attention in Western Europe. The emergence of the term, in fact, reflects an attempt to reconceptualise the changing
nature of social disadvantage in post-industrial societies in the face of major technological change and economic
restructuring. The West, for example, has been experiencing an intensifying process of social integration that is occurring
because of long-term unemployment, increasing migration and the rolling back of the welfare state. Consequently, new
vulnerable social groups have been emerging and are labelled in different ways: 'the new industrial poor’, 'immigrants’,
‘ethnic groups’, 'single parents’, among others. Interest in social exclusion has grown in relation to the growth of new social
problems in the west. Two important issues are worth considering here. First, does the concept add anything new which
cannot be provided by analysis within a more conventional framework of, say, poverty, inequality, deprivation and so on.
Second and more important, can this concept be extended beyond a European perspective to a development setting? Can it
be exported from the North to the South, from a situation where the majority are well-off to a situation where the majority
are poor? Clearly, a great deal of attention has been paid, in development analysis, to related issues such as poverty,
inequality, deprivation, entitlements and capabilities.
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[Question ID = 3674][Question Description = S2_qSNz_PG_GP4_Q49]
1. The reach of governments/3r®rI &1 uga [Option ID = 14693]

2. The conventional thinking/wwer i [Option ID = 14694]

3. The normal issues of deprivation/dden @ mwiea 35 [Option ID = 14695]

4. Common perspectives of inclusion/3memaerer @ e uf¥egr [Option ID = 14696]



5) Read the given passage and answer the questions that follow

Social exclusion is a multi-dimensional concept conceived to capture different aspects of social disadvantage-economic,
social, political and cultural-that exist in multiple variations across nations. Stripped to its essence, the term focuses on the
groups excluded in economic, social and cultural terms as well as on the mechanisms that work to relegate them to the
status of social outsiders. Originating mainly in the writings of French sociologists, the concept is receiving growing scholarly
attention in Western Europe. The emergence of the term, in fact, reflects an attempt to reconceptualise the changing
nature of social disadvantage in post-industrial societies in the face of major technological change and economic
restructuring. The West, for example, has been experiencing an intensifying process of social integration that is occurring
because of long-term unemployment, increasing migration and the rolling back of the welfare state. Consequently, new
vulnerable social groups have been emerging and are labelled in different ways: 'the new industrial poor’, 'immigrants’,
‘ethnic groups’, 'single parents’, among others. Interest in social exclusion has grown in relation to the growth of new social
problems in the west. Two important issues are worth considering here. First, does the concept add anything new which
cannot be provided by analysis within a more conventional framework of, say, poverty, inequality, deprivation and so on.
Second and more important, can this concept be extended beyond a European perspective to a development setting? Can it
be exported from the North to the South, from a situation where the majority are well-off to a situation where the majority
are poor? Clearly, a great deal of attention has been paid, in development analysis, to related issues such as poverty,
inequality, deprivation, entitlements and capabilities.
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[Question ID = 3675][Question Description = S2_qSNz_PG_GP4_Q50]

1. The focus theme of Europeans/zRIdtr clistt w2 dfga farr (efter) [Option ID = 14697]

2. Anissue of developmental capability/fd@ricae® et o1 gg1 [Option ID = 14698]

3. A commodity for export from the North to the South/3w= 3 cféivr &1 @=w foriia @ fére azq [Option ID = 14699]

4. Universal in character, going beyond the western hemisphere/dfq® ¥awu areft, ufkweft sitemef 3 ams? Suedt g [Option ID = 14700]






